ReSUL T

B4 BOBABFUNEEREFGRPES F EHz 3—F

BRiI5 4 WA I E RS a— R 273090

H =| Yrx2 7981 3H(H) KMe/ <t YFLEEL
7% INFR TE S

B R Ny IESR

EEREE  ER E

THERGES KRRNEEEDESHHEHES




RX b8 —EERun—rza0

BEFDE
(2] B| £ 4 & - F4F 8% B & % & - FF FCEx B K 4 g - FF 8% IB| £ % iR - FE FCEk
AEBF 1o BX [m#raz7z 0 4 14.95 2 |ER ESE [BIThIAC 4 14.99 3|XfE Bt (== (F) 4 15.33 4\1WA BAR |(auEtssT 4 15.41
100m 5 IR B [K3SC 4 15.42 6 [IuA & [HRJ 4 15.48 7|ZE B R1ZHJAC 4 15.49 8 [&XA EKX |HRJ 4 15,62
4ERT KR @A |HRJ-4A 4 EH OBAB|ZE4A () 4 R B VBENEKSC-4A 4 I =R [HRJ-4B 4
4x100myL—|[1[hAx BH |HRI-4A 4 2 |E X= =E£4A () 4 3R B |vsstksc-4A 4 4 |®E B3k |HRJ-4B 4
g 8 HRJ-4A 4 1.02.53 KeE #Hth |=£4A (%) 4 1.05.90 NI Bt [osmrksc-4A 4 1.05.97 INE OB HRJ-4B 4 1.06.30
HER X |HRJ-4A 4 W BRE [Zx4A ) 4 S VENEKSC-4A 4 FEH #E |HRJ-4B 4
Bl SE3E aOXE4A 4 R ZFK |vsprksc-4B 4 WH B |=€4B () 4
5|H# L &/ aIXE4A 4 6 |/NFg #Z2 |vsmrksc-4B 4 7 lde# ZiE |==4B = 4
k2R BEA|2IRE4L4A 4 1.08.60 Ki#E EAN [vehrksc-4B 4 1.09.66 HFLE WK |==4B (&%) 4 1.12.28
FNH FRE JZXE4A 4 JIEME  #BA [osnrKksc-4B 4 =5% B}|=£4B () 4
S5&8F 1|$HE #X [XKAC 5 13.42 2 | KR #&&% |RuEES ST b 13.73 3|hAE & FAJ—bxyk b 13.95 4 [FIER M |7RISHJAC 5 1413
100m 5|88 EX [4IZHIAC 5 14.27 6 |FiE EBKX |RIZhHJAC 5 14.32 7 |EE Kk JXEAC 5 14.33 8 |[fEH BK |WRHY2=7 b 14.34
S5HERETF 1|#E BAB|JRCHIEFSL b 2.40.13 2 |HP i [FBERC 5 24435 3[HhE k¥ |[ZEHKSRC 5 24517 4R BE |BHRRFyT b 24642
800m 5 & 3£ [HRI 5 2.47.56 6 BA RE |SPOTHER 5 24847 7|£H EH |WEHYa2=F7 b 24927 8 [[EH EH JRXEAC 5 2.50.12
5FEEF 1Bd E =% (®) 5 15.22
8 O mH
bHEBRF thig #EXK |mbJAC-B 5 KB A |RAYa=FA b thtd [E#E |vssrksc-5A 5 A% 1HE |7zu—rizvrsA 5
4X100myL—|f 1|88 EKX |#<bJAC-B 5 2 |f8A BX |mEYaz=FA b 3 (e e |vemrrksc-5A 5 4|l 3 |7ru—txvrsA B
fER HE |misbJAC—B b 55.89 HH #HE |REACa21=7A b 57.61 EE AKX |ossrksc-5A 5 59.88 2/ BRER|7zu-rivr5A 5 1.00.64
roorr o s s |12 JAC—B b B #W |KEYa=F7A 5 AR fRAES[vearKksc-5A b PR & FRU—b#uFEA b
A KHE |XAKAC—5A b WA fEE |==5A () b BEA i HRJ-5A 5 INR BRI} |BERAC (A) b
5|8 KX |XKAC—-5A b 6|AE E =E5A () 5 7 [#/&HF KA [HRJI-HA 5 8 [FEE BAM|ERAC (A) b
EH RE |[XAKAC—5A b 1.02.06 B Z =£5A (®) b 1.02.80 HME BE  |HRJ-5A 5 1.02.91 W AR |BERAC (A) 5 1.05.62
JIIARF BAX |XAAC—5A 5§ A Hth |[=E5A () 5 {EE B |HRJ-5A 5 BIE E#E [BERAC (A) 5
58T
E = Bk
S5FHEF 1w =8 |=% () 5 3m44 2 [ BEX =% (&) 5 3m00 3|”F B Uonf=KSC b 2m90 4 |BE #W= |[vosmEKSC 5 2m60
FE Rk
S5FHEF 1[BA Bt |=% () 5 42m47
Y 7 hAR—IL
6EREF 1[ER B |&I2hJAC 6 13.19 2 |RE BAX |05nEKSC 6 13.21 3 [MmE K |[YSDKIDS(m) 6 13.28 4|9hE B |XAAC 6 13.42
100m 5|%% BA |XAKAC 6 13.43 5|HM EX [HRJ 6 13.43 7|ILE X |BRXFvS 6 13.48 8 |fFE K¥E |FRU—bARv b+ 6 1351
6EREF 1|FE K [RBEP>a2=7 6 2.22.71 2 |giH BR [KEYa2z=7 6 2.2597 3|[HE 2t |HRJ 6 2.26.71 4 |EA)I Bt [HRJ 6 2.28.13
800m 5 FEH KAAC 6 2.29.33 6 |EHF B |BAYa=7 6 2.31.58 7 |hE pE X EFKSRC 6 2.31.81 8 |HA 2 [REYa21=7 6 2.31.88
6ERTF 118’ &N UHM=KSC 6 12.48 2|BE &I |o5HnHfEKSC 6 12.90 J|IEA HERE |HRJ 6 13.51 4 [Nt fE FAU—krxy bk B 14.34
8 O mH 5|K&E = |[HRJ 6 16.75
6ERF M REE UbnKSC-A 6 =HE B4 |[gcpbJAC—-A 6 h# BAX |[XAKAC—6A 6 =A HiE |verEKSC-B 6
4x100myYL—|| 1|85 FH{Z |v5nkKSC-A 6 2|&8 B3 |mizbJAC—-A 6 3|(hE EHM [XRKAC—6A 6 4R BN VEMEKSC-B 6
PR BEER  [osmfKsC-A 6 51.82 I K#E  |#IhJAC—A 6 52.00 Il MK [XKAC—6A b 52.94 BN W UBAEKSC-B 6 53.06
BE FA |[osnEKSC-A 6 i EH  |mIcbJAC—A 6 EH N HAAC—6A 6 =k $H |vossrksc-B 6
Fa—y FEVF|FRU—bRYEA B g EH |KREYa1=7A 6 HZE ERH |HRJ-6A 6 =@ FE£H |YSDKIDS(E) 6
51548 —8B |7RrU—txvytA 6 6|FEF Kb [KREP2=7A 6 7 |HE EX [HRJ-6A 6 8 [MME 3K |YSDKIDS(m) 6
HE &E [7ru—txvtA 6 5454 AIE BE (kREYa1=ZF7A 6 5495 BA BE |HRJ-6A 6 55.08 INEE BEFM|YSDKDS(ER) 5 55.22
RiE K¥E |[72Uu—rxvbA 6 Hi 2 |[REC2=T7A 6 INE B HRJ-6A 6 )l Bs Kk |[YSDKIDS(z) 6
6EBF 1B &R |[XAAC 6 1m30 2|#EE BE [HRJ 6 1m25 3|KAE EN = () 6 1m15 415K B HRJ 6 1m10
E = Bk
6ERETF 1|28 —8 |[7rU—trxvt 6 4m67 2 |l BB |U0sAEKSC 6 4mb9 3|HZE ER |HRJ 6 4m21 4| A¥h FEN [oshEKSC 6 4m19
ENEBE 5 |pHE & JACRE 6 3m97 6 |RE BR |=F (X) 6 3m88 7 |5F8h 3K |HRJ 6 3m86 8 7Bk T |=% () 6 3m60
6EBF 1l K¥E  |7%RI2hHJAC 6 55m90 2 |ABE HEBR  [pvewravazy 6 42m22 3|EH EE =% () 6 40m40 4 1@l B HixJC 6 36m25
Y 7 M AR—ILE 5|18 FHRER[rrawsrdrazy 6 32m13 6 /B HE [=F () 6 31m23 7|fEE —H |[K%SC 6 10m91




ZFDEB

EE B| £ 4 & - F4F 8% B & 4 g - FF FCEx Bl K £ & - FF 8% IB| £ % iR - FE FCEk
A FELF 1B £z |RM7y T 4 14.99 2 |tk #E |BERAC 4 15.33 3|[BAR =E=F|[LICHIAC 4 15.43 4 |&H = |RKXESRC 4 15.64
100m 5 I /mE [=F (X) 4 15.77 6 [fFE HE [RAZESRC 4 15.78 7 |#E £k [HACKH) 4 15.87 8 R B [=£ () 4 15.93
4ELZTF KK Lt [RKE—4A 4 BH Bt |=x4A () 4 EH BE |[sMTvIL—4 4 Wt #F |venrksc-4a 4
4x100myL—|(1|&E =H |RXKE—4A 4 2| K HiXx [=£4A () 4 3B EZE [(MFvIL—4 4 4=l HE |vsnsrKsc-4A 4
BAR mm [RKE—4A 4 1.03.94 HH ORE |=Z24A () 4 1.04.94 Pk BEE |RM7yIL—4 4 1.05.50 =l FEE |vsnrKsc-4A 4 1.06.65
M YE |RKE—4A 4 Wil \mE |ZE4A (H) 4 WA ArOA|EMFYvTIL—4 4 Py T VonEKSC-4A 4
INFG EFE  [vsmrKsc-4B 4 i1 HFR |1015v&5v-A 4 wWE =7 |BhXFv TS 4 BEA B |10015v&5v-B 4
5|dm #IE [vsmrrksc-4B 4 6|8 #r&4 |10015v&7v-A 4 7TIER =T |2hxFxvyv T 4 8 |1EiE =S (1001508508 4
hE AMEE|vshrKSC-4B 4 1.07.89 J\H BR |10015v&52-A 4 1.09.33 I =L |BfxFyS 4 1.11.44 mE EE [10015v&5v-B 4 1.13.95
L EE |vsprkKsc-48 4 JIEF B4 |10015v&50-A 4 WH BEH |BRRFyv T 4 8 < B5%E[10015v&50-B 4
S5ELZF 1BAX ¥ZF |[RKESRC 5 14.43 2|¥5 ME [KXHAEE 5 14.45 3BIE EP|[LICHIAC 5 14.47 4 A 7 BEIRSC 5 14.80
100m 5|8H =& [ABICShHIAC 5 14.83 6 [agE &y | XRAAC 5 14.89 7 BAE|F#Ya=7 G b 1513 8 |kl 13 SBAEFE 5 15.14
S5FLF 1 |&R T [XHKSRC 5 24248 2 | HET | KEKSRC 5 24381 3 [EE WHY2=7 b 2.49.08 4l NE O |[REAYa2z=7 b 24968
800m 5|kdh BE |vEms57 3 b 2.50.561 6 |fEs #Em | JRCHIES 5 25097 7 AR #5%E [SFMRERC 5 2.51.04 8 |gTH =& [WKHYa21=7 5 251.26
S5FLF 1 |AN B =% (&) 5 14.64
8 O mH
54T BERK BLE|RKE-LHA b FiE By |wECazZF7A 5 RE TZ& |vssrKksc-5A 5 ) R |REKSRC 5
4x100myL—|1|@=Z X8 |EXE-HA b 2 |#Alh /NE [REYa=FA 5 3[IUE —# |vbsrKsc-5A b 4 |EH FER[ZHKSRC 5
AIEH ESH |RKE-HA b 1.00.35 KeT Ry |[KREPa2=F7A b5 1.00.48 A5 Wl |ossrksc-5A 5 1.00.97 JI# BTy | REHKSRC 5 1.01.00
BAR ¥E |RKE-5A b MH H® |WHAYa=7A 5 &Il —% |vshrKSC-5A b A =B | XBHKSRC 5
AR BESH O |(RMTYTL-5 b IS MIE |[KEAABE 5 Wik M3 |vsmrrKsc-5B 5 BB #$% |EAVaz=7 b
5%+ MF |RMTYIL-5 b 6 (A0 Bx |XHAEE 5 7 |##@8 m® |osmsrksc-58 5 8 |BA #HF |BXPa2z=7 5
FAR R |[®RMFYIL-5 5 1.01.90 R TER [KEAAE 5 1.02.08 FH# EE |osprKSC-5B b 1.03.84 MER EM|ERD2=T b 1.04.61
EA K KMF7yTIIL-5 b =% =8 |[AhAE 5 WE #%% |vssrKksc-58 5 A OB EXCa1=F 5
S5ELZF 1B T&F |[vsniKSC 5 1m30
E =Bk
S5FELF 1HEI &% =2 () 5 3m73 2 |EAR il |BEEVST 5 3m45 3|M® & =% (¥) 5 3m29 418l EZ |=% () 5 3m12
FE Rk
S5FELF 1| &F [BEEXESST 5 30m81
YV 7 hAR—ILE
6 FELF 1 [BI% EM|7&I2hJAC 6 13.21 2 |HH EE |ALEESIST 6 13.60 J|HH EE (a#Ca=7 G 6 13.78 4 BEH BEE|BEAXYa2=7 6 13.93
100m 5 [ RAGFR FEKR|[LICHIAC 6 13.96 6|BE # RM7yTIL 6 14.04 7 |HEA T |REPa2=7 6 14.14 8 |54 &H [RAAC 6 14.20
6 FELF 1 [#%k FE |EXARAC 6 2.31.99 2| RZE |[BEAYa2z=7 6 2.37.37 3 AR BAE [PRERC 6 2.40.21 4|BH FE |7RU-bERvE 6 2.40.25
800m 5 [#Mm KB |REAZa2=Z7 6 2.46.52 6 |&F) #EK |HACGR) 6 2.50.58 78K T | K%SC 6 2.51.04 8lH BxX |JRCHIEH 6 2.51.28
6 FELF 1[FhA mE |XKRAC 6 14.31 2|ILF =P [HRJ 6 14.33 3|&H =<(H[HRAKAC 6 14.51 411U KB [7ru—txubr 6 15.90
8 O mH 5|BHH Ef [=F () 6 17.77 6|HIE #F |BE R(ERB) 6 23.10
6 FELTF I EP|BIbJIAC-A b HA EE |BERAPa21z=7 6 EH ER |[R#Uaz7AR 6 = EBFH |XKAC—6A 6
4X100mYL—| 1|&HF EK |[#=bJAC-A 6 2R RE |BAY21=7 6 3 |HME HE [m#HU27AR 6 4|5H KKRE[KAKAC—6A 6
EMH =¥ |#lzbJAC—A b 56.00 BEH HEE|EARTD2=T 6 56.50 FH EF |[7#C2=7AG 6 56.63 Mk BRE |EXAAC—6A 6 56.99
KRR FK|&izbJAC—A 6 = XM |BAYa=7 6 aAx BB |[s#Hra=7AR 6 FE HBE |®%AAC—6A 6
) = SMT v TIL—A 6 WM KRE [KREYa2zZFA 6 A BM |UXLT—h 6 5E XA |[RHFA/ERA 6
5|88 & RMT v TIL—A 6 6 |#ER FF |RHAPa=TFA 6 T|R"HF FR (VRLT—K 6 8 |1k XM |HAEA 6
A¥Y REB|RM7YTL—A b 57.69 KA BWE [(kEYa21=7A 6 57.79 PRE) FK |URXLTF—bh 6 58.24 & R HBEA 6 58.60
HE B RMT v TIL—A b fHE  EE |[KREY2=FA 6 # B¥n |UXLTF7—k 6 BIFT mZE | RFHFAREA 6
6 FELF 1S RBEFIEEIZFT 6 1m15 AEAR BIFARR 6 1m10
E = Bk
6 ELF 1B &M |[osnEKSC 6 4m16 21N S |uenzKSC 6 4m11 3|BA M [RARAC 6 4m05 4 |FEE EN (MHEAE 6 3m90
ENEBE 5%k A |YSDKIDS(m) 6 3m80 6|/ ME |XAKAC 6 3m74 7|HE %% |06hn=KSC 6 3m42 8 [HtH #F |[&I(ChHJAC 6 3m42
6 ELF 1|XKE EF (== () 6 28m86 2 | EIRRE [BOFR R 6 27m11 3 |FAER FE |KHAE 6 10m08
Y 7 hAR—IL$




Z5ERESULT20150913

b FLF 800m

ek
B EE ] K & F = Fdl BV EE E £ PB4 2 8%
13T &R =1 R EFKSRC 5 24248 1] 2] 1201 _/N& WH>1=-7 b 2.49.68
3| 1615[p[EE  BAE JRCHIEFS 5 2.50.97 41 15141 8= HEBERC 5 2.51.04
5[ 1201|fFk BETH WHS2=-7 b 251.43 6] 1201[FEE #0 WH1=7 b 251.55
7162702|1 58 1A HACGR) 5 2.55.68 8| 13056[/1#8 M= O KSC b 2.57.37
9[ 1201|=MA &> WHZ1=7 b 3.01.29 10[ 1104[#AH E&K EESST 5 3.05.37
1112012 ¥ WHZa21=7 b 3.07.45 12| 1200/MER =W [EAXAY1=7F7 5 3.12.78
13| 1311[HA  EE T BFKSRC 5 3.26.36
TN131TTYIEE TS |ZREFKSRC 5 24381 2[ 2] 12013 8@ ©% WH>1—-7 b 2.49.08
3[91310[ Fh [BmE FEHI5T () 5 2.50.51 41 1201 [g1E =& WHI =7 b 2.51.26
5[ 2702|834 #REH Sk 1z7 b 25378 6] 1305[AH #BF UH5NEKSC b 2.55.25
7] 1305|548 == UM =KSC b 2.56.35 8 1301[IL T EFE JXEAC 5 256.87
9 1120][&@E & Z2hzxfxy 7T b 2.58.33 10] 1311 [FEH FER [ZEFKSRC 5 2.58.66
11 1201 XF1_ KTy WHZ1=7 b 3.04.05 12] 1201[E =H WH 1=7 b 3.05.89
1317042 = BEJC 5 3.12.46
B | EE| K £ FIE4 £ 8% |
11311 &SN & 2 BFKSRC 5 2.42.48
211311 I3 HED  [ZXEFKSRC 5 2.43.81
~ [ 31201 5@ ®E WHY1=-7 b 2.49.08
Z | 4| 1201 [#Ah /NE WHI21=F7 b 2.49.68
~ 5[91310| FF R hEHIST () 5 2.560.51
8 6] 1615[FER FEE JRCHIFH b 2.50.97
7[1514[JIIx H%Z& PR EFRC 5 251.04
8] 1201 [gIH =& WH>1—-7 b 251.26
S&EEF 800m
LBk _ _ _____ _
Bl EE] K £ B4 3 0Bk Bl &= K % FIE% E 8%
11 1615|#% BAB |JRCHIEFH 5 24013 1| _2[ 1514|HA kb R EFRC 5 2.44.35
[ 1311]hE  xIE ZEFKSRC 5 24517 41 1120[ILAA B E2hzxfxy T b 2.46.42
5| 1201 @ = WHZ21=7 b 249727 6] 1301[HA 3 JXEAC 5 25051
711311 (BN A 2T EFKSRC 5 25242 8| 1201 (108 ARl [REYa2=7 b 2.54.28
9l 120183 B WH 1=-7 b 257.46 NEENES R H*AAC 5 3.02.43
11[2702]|HE & ST 4177 b 3.04.20 201311 [RE X8 ZFKSRC 5 3.05.13
13[1305|=@ =B UOoM=KSC b 3.20.02 14] 16523[EF__ &40 X#SC 5 3.21.35
1217|FH X RKAAC 5 DNS
111218 BE HRJ 5 24756 2] 2] 131884 %k SF O Bl 5 24847
3| 1301 [iF 3 EF JXEAC 5 2.50.12 412701 (5K FER ® X 5 2.51.84
5[ 1514/ ESR 3P EFRC b 252.03 6] 27028 —8E YUy A 177 b 2.53.30
711201 | &%  #A WHYa2=7 b 2.53.62 8| 1311|AR#F_A K EFKSRC 5 2.64.
[ 1311[ .l fdiyE ZBFKSRC 5 25567 10 1301 [#H# K& JXEAC 5 257.
1111201 .8 #0&k WHYa2=7 b 2.58.38 12[1514|EH ®i=E KR EFRC 5 2.68.
3| 1200[@H# =F EXS=7 § 3.16.13 1301[{£f X JXEAC 5
B E=] K £ FIEZ = o8k
1[1615[#E BABR |[JRCHIES 5 2.40.13
2[16514|HF b B EFRC b 2.44.35
~ 3[1311|mh/E  kiE 2T BFKSRC 5 24517
Z | _4]1120[luN_E= 22y b 2.46.42
~ 51121 |HE B4E HRJ 5 2.47.56
8 6] 1318[;EX FE SF O Bt 5 24847
71201 |/ EM wWHYa1=—7 b 2.49.27
81301 [EEH EFE JRXEAC b 250.12




Z5ERESULT20150913

= 6 FxF 800m
ELEX S
18 Bl EE KE £ R4 e F08%k B4 EE KE % FE% Ed ek |
1 11514 B85 P ERERC 6 2.40.21 1 2| 1605| 2% T FA)—hXxv b 6 2.40.25
3| 1201 [#m kB WHI 21=F7 6 2.46.52 41 1523[8 K  F07E K#HSC 6 2.51.04
5[ 1305 »5%H [Uh’=KSC 6 2.51.62 6| 1305|5 F1& UM =KSC 6 2.51.68
71 1615[8& E=E JRCHIFS 6 2.53.69 8l 1119|A+E MF [MHAR 6 2.55.49
9| 130b|/\#B Z=E1{h O =KSC 6 2.56.28 10[ 1614|M\=E = SHEBEFRC 6 3.00.12
11[16156[IUR #Xx JRCHIFS 6 3.00.66 12[62702|8H1  #& HACGR) 6 3.04.20
13[ 1301 [&mk FiTy O XEAC 6 3.15.13 141 1801[38 H#0 = HhJAC 6 3.20.63
1301|BR 1% JRXEAC 6 DNS 1203[40)1] Eﬁ HFEAC 6 DNS
20 111217k FRAE KAAC 6 2.31.99 2] 2] 1200t BEXS1=F7 6 2.37.37
3[62702|% Il & HAC(R) 6 2.50.58 41 16156 Bﬁ% JRCHIEH 6 2.51.28
51 1217[p[EELE FxE [RAAC 6 2.51.44 6] 1201|/ks E WKHEY21=7 6 2.55.60
7] 1305\ H =& UOom=KSC 6 2.5b6.76 8| 1120|£H ¥y Ehix¥v T 6 2.56.62
9] 1305[hE  Hmt O =KSC 6 3.01.24 10]62702[# F F= HACGR) 6 3.03.61
111217 KRl EF ZAAC 6 3.05.29 12| 1702[MAK  IHE EMFTyFIL 6 3.06.26
131 1615[g1)ll #2#4 |JRCHIFH 6 3.07.28 141 1228[B8K f&&E 10015 &5 6 3.09.84
15[ 1514378 X 3B EFRC 6 3.11.13 161 1704{gE oAy [HRJC 6 3.15.60
6| FEE| K £ E4 F OBk |
111217 |#K  BRE KARAC 6 2.31.99
2[1200;th e A= EXC2Z7 6 2.37.37
~ 3[ 1514 AR BFH PR EFRC 6 2.40.21
x A1 1606 | & T3k FA)—=kFxy bk 6 2.40.25
k 51201 [#4A XE2 WHY2=F7 6 2.46.52
8 662702\ F)Il  #E4K HAC(E) 6 2.50.58
711523|8A  FTE K#HSC 6 2.51.04
81615 ithH  F53E JRCHIESH 6 2.51.28
6FEEF 800m
EioE ey
# B6 F= K £ R4 ¥ E0 8% Ef] &= K £ R4 = E0 8%
1 1] 1201|F2 x#y WHY21=7 6 22271 12| 1121 ER)I Bt |HRJ 6 2.28.13
3[1217FH KAAC 6 2.29.33 41 1200({@3#H RS EXYa1=7 6 2.31.68
5[ 1201[HA F2 WHY21=F7 6 2.31.88 6|62702|FHE Bib HACGR) 6 2.38.28
711305(8)Il BX O =KSC 6 2.38.28 8l 1217|&AKm WK [RAAC 6 2.40.67
9| 1311[#8 & 2T BFKSRC 6 24262 10| 15140 #N KR EFRC 6 2.47.25
11[2702| Kl HFH D D A 2.50.08 12[ 1305/ BX O =KSC 6 3.04.21
13| 1819[/h\e FEN NILELESI ST 6 3.11.58 1120[FHR B2 EdhzxFyvT 6 DNS
112178 F=  [HRJ 6 DNS 1523|8Rn #@sL  [K#SC 6 DNS
20 1] 1119|8H HEER HHAR 6 2.32.29 21 2| 13071 |=5 =k JXEAC 6 2.33.98
3| 1305[IEH [Fif O =KSC 6 2.36.85 4152701[78H —X HEIBRC G%) 6 2.37.47
5[ 1301 [3#.E itﬁz JXEAC 6 241.62 6] 1305|KR% EHHR O EKSC 6 2.41.88
JL1514DIA & HEBERC 6 2.45.86 8l 1120[ 8 &A Ehx¥xv T 6 2.50.24
9| 1514|iex £E P RERC 6 2.52.64 10| 1201[Ef% HME WHS2=F7 6 2.53.33
11 1217[F@A BX KAAC 6 2.53.92 12[ 130581l EEd UOoh=KSC 6 2.57.08
13[1311[AS X 2T EFKSRC 6 3.12.98 14| 1228|5R% &4 10015 &5~ 6 3.22.48
1311|%00 #EA  |XFKSRC 6 DNS 20|k %— |&2dzxEtvT 6 DNS
3|_1[1201]|g1H F&ME WHYa2=7 6 22597 3 _2[1121|8E Et HRJ 6 2.26.71
3| 1311[hE = 2T EFKSRC 6 2.31.81 41 1120[miE  m Ehxxv T 6 2.35.71
5| 1305|f@kx  Eib O EKSC 6 24112 6] 1201|JIl  KE WHYa2Z7 6 2.45.04
7] 1615[KfE  ZEts JRCHIEH 6 2.47.96 gl 1121lLEx EB HRJ 6 24862
9] 1305|JIl BHE O =KSC 6 2.48.71 10| 1605[3H F &K% FRY—bERy b 6 2.51.04
11] 1305 H 5A¥E O =KSC 6 2.57.84 121 1301 [FFER FA O XEAC 6 3.06.82
13| 1514[/MR 3N PR EFRC 6 3.44.91 1819|= F =¥ NILELESI ST 6 DNS
5| &S| K £ E4 g2 OBk |
111201 [55F Kb WHI 217 6 2.22.71
2/ 1201 [FIH B WHY1=7 6 2.25.97
~ 311218 E 2+ HRJ 6 2.26.71
R 411121 BRI B HRJ 6 2.28.13
k 5l 1217FH RAAC 6 2.29.33
8 6| 1200|4E5H B EXCa=7 6 2.31.58
711311 |FhE8 [E 2ZBFKSRC 6 2.31.81
8[ 1201 [HA F2 WHY1=7 6 2.31.88




Z5ERESULT20150913

- S5&LF 80mH

B K % FEZ = =5 |58 BN Xe EZ = =5 |
1 AN = =% (&) 51 1] 14.6

- S&#EBF 80mH

B 3 EZ = =i L B B= I E% = =5 |
i = == (&) 5[ 1] 152

- 6 ELF 80mH

IEf] 2 fEs = ok | 4 IBh Ee Es = ol
1 ESD HRJ 6 4.3 2 11 1217 HAAC [§ 1451
2 £ H FRJ—FrEY bk 6 15.9 2191910 =% (¥) 6 17.77
3 ¥F |2 EER 6 2310
1 HBE *RAKAC 6 14.31

BEK EEHYS T 6 DNS

TE ] Z EZ = 2ok |
1 BE KAAC 6 4.31
2 ED] HRJ 6 14.33

~[3 =<{b [EAAC 6 1451
x 4 EXEE FAY—FrEy bk 6 15.90
~ b Bt == (&) 6 17.77
8 6 Y |E R(ZEBR) 6 23.10
6EEF 8 0mH

T _ _ __ _

B B Z MEs = =i L B E= e = o
11130 1 O =KSC 6 248 2 11 112113 HRJ 6 13.51
2[1305|E8 &L |UohEKSC 6 2.90 2] 1605 FAI—F%xvF 6 14.34
31112 2 Wi HRJ o] 6.76

ETE=] zZ TR = o5
1[1305|8_ & 0557-KSC 6 248
211305 E1- O =KSC 6 2.90

~ [ 3[1121[BA A& |[HRJ 6 1351
A 411605 i FA)—=rExy bk 6 14.34
F [ 51121 K% L |FRJ 6 16./5
8



Z5ERESULT20150913

- 5%+ 100m
ELEX S
B X K % B = =5 | 0a EM Xe | K % EZ E2 Eral
1 11702 K E 7%)‘[‘[7/7’)1/ 5 5.48 2 1] 1618|¥ES  #1E SEHE R 5 14.45
21 1301 [IhA &£+ [ XEAC 5 15.83 2| 2607|MA & BETIESC 5 14.80
3[1602|ILO BEX REKRZESRC 5 15.97 3| 1217k 7y KAAC 5 14.89
4161901 |#kH Y D a7 G b 16.82 41 1801[pEH 1A R I2HJAC 5 15.49
5[ 1801/ B= RIZHJAC 5 16.91 5 1306|NfkE  HE3 UM =KSC b 15.77
6] 1605|FFEH 1LF0D FAJ—hxy bk b 17.21 6] 1602| A& m4ft |RKZESRC 5 15.77
711618 UMD |HBHEE [ 17.79 7191910| = K= == (= 5 15.81
8 1228t BeZiqr 10015 &>~ b 24 41 1228|300 %@ 10015 &5 > b DNS
3_1[1104|AR mHAZE |[EXIZ T b 15.20 4] 1[1306|HJII —3F O =KSC b 15.47
2| 1305[HAE ##F& UOom=KSC b 15.50 21 1702|EX  H EMFTyFIL_ 5 16.46
3| 1514[&EQ0 E=X P RERC 5 15.89 3| 1201 FiF WKHY2=7 b5 16.68
4 1705[IUA BH1E BEY 5 ARy x—X b 16.67 41 1200[BE&  #H+F EAXCa=7 b 16.64
5[ 1119 H = BARE 5 16.72 S 1801 [AAR HFZE [LIZHJIAC 5 16.67
6/1702|E®r = BEMFZyFIL_ b 17.11 6]91910[/NE B =% (= 5 16.86
7116022 % E3Fi R RESRC 5 17.23 71 1602| B =B RAZESRC 5 17.14
8l 1203|F®E = [HEAC 5 17.85 8l 1228 Fs £7e 10015 &>~ b 1932
bl 1[1/02|®RH B EM7yTIL 5 15.51 6] 1]11602|& S R AZSRC 5 14.43
2|191910|#H &% == (¥) 5 165.62 2| 1801|EH =& 124 JAC 5 14.83
3| 1602[gIH E R RFESRC 5 15.69 3| 1618kl &% FBHEE 5 15.14
4] 1605[;EE At FAJ—hxy bk b 15.71 4112173 RF ¥ IAAC 5 15.97
5[ 1618|=% =8 JEAEE [ 16.69 5| 1228|1LE  #EFi 10015 &T Y b 16.25
661901 KpH =& =#HU21=7 G b 16.90 6] 1702| AKX &5 EMFTYFIL 5 16.60
71 1705[ LK &R WEE Y5 ARy A—Z 5§ 17.08 71 1705 =& R S5 ARy/A—Z b 16.69
8] 1301[3ME 78Ty JRXEAC 5 17.78 8| 1200|ATF =5 [EAXY2—-F b 17.83
7| _1[1207|MH BH# WHY>21=7 b 15.25 8l 1[61901|pE BEAERE |[F#ra=7 &) b 15.13
ARNIVAEZ RS EMF7yFIL_ b 15.46 2| 1801 |/Ek X3k 212 JAC 5 15.84
3[ 2702\l F# S 1z7 b 15.86 3[ 1602|& =R R AZESRC 5 16.48
41 1305|HE WHE UOom=KSC b 16.00 41 1200(H@E  H= EXYa2=7 b 16.65
5| 1602|BFA WS> |RAZESRC 5 16.10 5| 1618|180 == FEHEE 5 17.16
6] 1104 EE!J:ILE Bt |[EXHs5T 5 17.10 6191910[5# MKl =% () 5 17.16
7 1618|RE &F JBREE 5 17.58 71 1228|ILAK  FEE 10015 &5 b 18.31
8161901 1@ TE R#Ua=7 G b 17.93
9 1[1602[FEF X% FAESRC 5 165.24 | 10| 1] 1801 E.I18 W [&I=bHJAC 5 14.47
201702/ *EBHE [BMWNF7yFIL b 15.81 2| 1305[1LA —% UM =KSC b 15.62
3162701 ;&EH #ETY YSDKIDS(z) 5 16.12 3| 1217 =pE  fb= KAAC 5 15.65
411301158 #F34 JXEAC 5 16.43 41 1200[ /0 RS EXYa2=7 b 15.94
5| 1401 [FH E= EIIES 5 17.62 5161201763 IR UNE(R) 5 16.11
6] 1705|=X #58 K@Y 5 ARy =X b 17.64 6] 1702[EXK Fig RF7y FIL b 16.78
71 1228|FlE  B# 10015 &5 b 17.65 1201 [JEH == WHY>a2=7 5 DNS
B | EE | K £ FEZ °F ik | XEBFEGHREL —ADOEREED
11602 | 2R ¥= %UQ%SRC 5 4.43
2| 16183 E F7E KB 5 445
~ 311801 JgiT% 2 [ HJAC 5 14.47
R 412607 A BFEITIESC 5 14.80
~ 51801 |EH 3% 2124 JAC 5 14.83
8 61217 ngk #h KAAC 5 14.89
7161901 HE =#Ho1-7 G b 5.13
8l 1618[ER A [KBAAE 5 514



Z5ERESULT20150913

- 58+ 100m
ELEX S
8 B EE KE £ R4 = ek | #8 | ﬁ_%% K % FE% 2 ek |
T 1127030 & TILJ744—X b 456 2| 1] 1104|9% fs—B8 [EESIZT 5 14.44
2] 1305|&8  #hid O EKSC b 14.77 2[ 1801 |7roav=z 91-2- 7v0~4 | 72 1220 JAC 5 14.57
3[1623|BEE #BX K%SC 5 15.63 3| 1615|EH B JRCHIES b 15.28
4] 1203|FIH E¥E HEAC 5 15.96 41 1701[#0@ 2% JACRHE 5 15.96
5lo1910[FEA {HEE == (&) 5 16.78 | 1605|¥EA MHEEK [FRU—bxv bk b 16.39
6 1121|BEMA HRJ 5 17.07 6] 1120|355k A E2hzxxvy S 5 16.59
7112285 A7 10015 &3> b 17.36 7] 1203[/\BR B3k HFAC 5 17.03
8 1514[E e DR B EFRC 5 18.67 8| 1228|Fal% ik 10015 &5 b 19.87
3 1] 1201[&FH #H= WHYa2=-7 b 14.46 A 1] 1217|FH & KAAC 5 13.42
21 1121[3RHF AA HRJ 5 15.15 21 1605|0F = FRY)—bxy bk b 13.95
3[62701/NAE E# [YSDKIDSGR) b 15.28 3| 1801 [Bay2p  ft 3l A IZHJAC 5 14.13
411217k 83X RAAC 5 15.30 41 13018 XE JXEAC 5 14.33
5| 1305 [%E WX Uo5A=KSC b 16.39 5[ 1203[Fa% BEAB [EEREAC 5 15.58
6[91910|/hE EBE == (&) 5 17.07 6] 1120(&+ = E2hzxxvy S b 16.56
71 1228[FEA Tk 10015 &3> b 17.37 7] 1228158 Eii 10015 &5~ 5 17.37
1203 | {87 &3l HEAC 5 DNS 8l 1705[&R HK—H [mEI/52HKys—X b 20.08
bl 1] 1819[KJ/m &4 RIEESS T b 13.73 6| 1] 1801[#iE EBX 7212 HJAC b 14.32
2| 1201 |fEHE [BX WH a2=7 b 14.34 2] 1305(#AF MmAERR [0O6n7=KSC b 14.48
3[ 1605|A% THE FAU—rFkv bk b 15.40 3| 1217[FEA 7& HKAAC 5 14.95
411701 F& & JACRHE 5 16.72 4191910 J:EEI EZES == (& 5 16.02
Sl 11214k &m HRJ 5 17.06 b 1614|&F 1k SHEEFRC 5 16.63
6] 12033kt 2 E HEAC 5 18.37 6] 1203 #’Aﬁ% ABE HEAC 5 17.09
91910|#AFH KT =% (%) 5 DNS 7] 1228[3r5m Rz 10015 V&5~ 5 18.66
121718 &3 RAAC 5 DNS 13013+ EIE JXEAC b DNS
71 1] 1523[IuA &= K&HSC 5 14.61 8| 1] 1801|A% #X 2 JAC 5 14.27
211201 tc8 & WH a2=—7 b 14.93 2] 1606[h 1L ML FAU—FF&vy bk b 14.66
3[ 1305|FHHY [EtE UoAKSC b 15.29 3| 1228[p&Es 3R 10015 v&5> 5 15.43
41 1228|146  EEfE 10015&5> b 15.48 4] 1305|ER A UM E=KSC b 15.96
5[91910];thls 4K A =% &) 5 17.48 bl 121714 BX *AAC 5 16.21
6] 1120| =l FEL Bty T b 17.79 6| 1121[{ck HE HRJ 5 17.28
1217|884 B FARAC 5 DNS 1301(fh4f EZB) [JXEAC 5 DNS
B | EE | K 2 PEZ = ik | XEBFEGHRE L —ADOEREED
11217 H X RAAC 5 3.42
2|1 1819| KR  1&4 SlEESS T b 13.73
R [3]1606|hAE & FAY—brEv bk b 13.95
Z [ 4[1801|prsn  AEF AIZHJIAC 5 1413
~ 5[1801 A8 #BX 212 JAC 5 14.27
8 6] 1801 EPiE B AIZHJAC 5 14.32
71301 |8 K& JXEAC 5 4.33
811201 [#HH [FX WHS2=7 5 4.34




Z5ERESULT20150913

- 6 FELF 100m
?E,\
JIE £ B4 = ek | A Bf] XS E % B4 2 S8k
i RKAAC 6 490 2 _1[61201;F  =n F/NEECR) 6 14.
2 A1ZHJAC 6 14.43 21 1120 =# 2hzx%xy 7 6 14.
3 RMF7y I 6 14.66 361001 |EM &= =H>2-7 () 6 15,
4 AR 6 14.69 41 1228| /R %8 10015 v &5~ 6 16.
5 05N =KSC 6 15.57 5| T121[EE & HRJ 6 16.94
6 JXL7—K 6 15.84 6] 1301[HEE  #kEE JXEAC 6 16.99
7 HILEEZS T 6 16.71 7] 17058  #hM RE7 5 2Ry $—Z B 17.66
8 B HEAC 6 16.99 1305 11A =M V5N EKSC 6 DNS
1 AAR FER _|BIZHIAC 6 13.96 4] 1] 1201[#H  sh%& WH 1-7 6 14.54
2 5 RMT7YTIL 6 14.04 2191910|FH MNE (=% () 6 14.95
3 JXLZ7—F 6 15.16 3| 1305[#1L B VDo =KSC 6 15.43
4 HLEEZS T 6 15.46 4] 1301 | EHA FEH [JRXEAC 6 15.48
5 WEJ5 A kv —X 6 15.80 5| 1605 (#trE  fEn] FAY—Fxvy bk 6 16.49
6 WHAE 6 16.02 6] 1228[&11 &= 10015 &5 6 16.68
7 U5h=KSC 6 16.13 7 1705[d6@ == RE7 5 2Ry =X B 16.83
EH FEF [BRC 6 DNS 8161901 [\ yAf FI= =HU21-7 () 6 17.28
1 BoTEH 2wl [ZI24JAC 6 13.21 6] 1] 1201/Ex _ F1F WH 1-7 6 14.14
2 =Ho2-7 3 6 13.78 2] 1200[=#& = EXC1=7 6 14.70
3 U5h7=KSC 6 15.58 3[1104[EHF EB XSS T 6 14.93
4 IRRC 6 15.67 4] 18494 M JALZ7—F 6 15.26
5 HAE 6 15.79 5 1819[Jt®H D& SEFSS T 6 16.13
6 EP eI 16.21 6|61901;HH BAEE [s#Y2=7 (®) 6 17.82
7 HRJ 6 16.37 1306/ KEE U5M7=KSC 6 DNS
8 JRXLFZ—F 6 16.70
i AIEETS T 6 13.70 8] 111849|&% H=Jy JALZ—F 6 14.72
2 =Ho2-7 3 6 14.22 2[61201 /4 =& NEGR) 6 15.04
3 W@EJ 5 Aky—X 6 15.98 [1119][kE W& WMHEAE 6 15.36
4 2 1ZHJAC 6 16.16 4] 1305 B =& UH5NKSC 6 15.85
5 JXEAC 6 16.38 b 1604|#K  FAF [H#HRC 6 15.91
6 FAU—Fk*xvy k 6 17.00 6] 1203|/hix  ETHE [ERAC 6 16.46
7 == (&) 6 17.09 1602|FJII A~y [RKZESRC 6 DNS
i OoM=KSC 6 14561 10| 1] 1606|2% QM=% FAU—Fxv b~ 6 14.28
2 EESST 6 15.13 21 1217|5H REKH [RAKAC 6 14.49
3 EXC1=-7 6 15.25 3[1849|a = JAL7—F 6 14.69
4 JXEAC 6 15.45 41 1702|/F &E EV IS 15.04
5 RHU1-7 GV b6 15.52 hl 18018 #% 1 IZHJAC 6 15.27
6 W& 75 Aky S—Z B 16.38 6| 1819[ERIJI /NE [REESST 6 15.29
7 EINES 6 17.62 7] 1523| AR BE RS C 6 16.75
1 EXC1ZF7 6 3.94 1 12 _1]11705]|K® 13 kY5 ARy =X 6 14.48
2 F/INEGR) 6 4.65 2|61901[xxx {&H =Ho -7 (=) 6 15.19
3 K#HSC 6 15.61 [ 1121|X8 BER HRJ 6 15.31
4 WHAE 6 15.63 4] 1604[ILE FiF HRC 6 16.33
5 UM T=KSC 6 16.05 5[ 1301 B3 JXEAC 6 16.85
6 10015 &5 6 16.88 6] 1T120[RE1L #0f= 2z T 6 17.06
HEAC 6 DNS 1305 |8y 28 O EKSC 6 DNS
g K FEZ = ik |XEBEFEHGHEL - X0ERLET
1 MoTE Sl [4I2HJAC 6 3.21
2 = HILEESZS T 6 3.60
~[3 3 =H01-7 (%) 6 13.78
Z | 4 B BFEE |EXPa2-F 6 13.93
[ b A2 JAC 6 13.96
8 6 RMFYTIL__6 14.04
7 WHZ1=F7 6 4.14
8 FAAC 3 420




Z5ERESULT20150913

- 6FEBF 100m
LIRS
56 EE | K £ R4 e soex | A Ef] FEE KE % FE% = ek |
1217]$% BA ZAAC 6 3.43 2 _1[1217][F8 =M ZAAC 6 13.
2| 1305|=s #hH3t O =KSC 6 13.68 2|62701[58)1  BX YSD KIDS(ZR) 6 13.
3[o1o10[iEA BA == (&) 6 14.59 3 1306|2X TR UHAEKSC 6 14,
4] 18013 % I JAC 6 14.65 41 1705(&2 1L Bt WA S ARy XA—Z B 15.
5[62701[#& O 1FAER [YSDKIDS(E) 6 14.93 5| 1701|EFH X8 |JACRE 6 16.48
6] 1228[cH A 10015>&5 > 6 15.34 6] 1228[ILA& EE~4 [10015v&7>~ 6 16.60
7] 1200[4BR8 MEE EXCa=7 6 15.45 T 112158 —#& HRJ 6 17.05
gl 1701 IO tfﬁ JACRE 6 16.59 8| 1801[MHE FEH 712 JAC 6 17.17
1] 1305[F# 5 Ubh=-KSC 6 13.88 | 4| 1[62/01fE Stk YSDKIDSGGR) 6 13.28
2| 1701 [#AK  #X JACRHE 6 13.91 2 1120|1UH ®X EdhzxFyvT 6 13.48
3[1801[&F £ 7125 JAC 6 14.60 3] 1801 [F4F EE3F A= JAC 6 13.87
4 1849048 S#t JXLF7—F 6 14.62 41 1201 E8 B WH 1=7 6 14.44
5| T119[EH  HFi= WHAE 6 14.80 b 1306[ A% B VLN EKSC 6 1457
6] 1228|IAEX BEX 10015>&5 > 6 15.29 6] 1849[&JIl_BC JXLF7—F 6 14.79
T 11213 F & HRJ 6 15.99 7l 1T121]F& B HRJ 6 15.43
112020 E# ELEFEDFAN' DNS 8l 1104[3@H BAEMW [EFI ST 6 16.34
1] 1305[FHzE BX VoA =KSC 6 13.21 6] 1]62/02|= B Buth HAC(R) 6 13.75
2[62701|5H FEi YSDKIDS((R) 6 14.70 2| 1801[=HE #4&E 712 JAC 6 13.89
3[1120[%ZF X4 ErPE DA 14.77 3] 1306[ R&¥E UHAEKSC 6 14.08
411849[1LA —# JXLF7—FK 6 14.94 41 1819 EX RILEETS T 6 15.52
5[ 17013 & JACRHE 6 14.96 S 11213k FIA HRJ 6 15.64
6] 1301[#AE Ml JXEAC 6 15.48 6] 1604|&E & BRC 6 15.80
T 1121 EE &N HRJ 6 15.49 7 1301[#H EE JRXEAC 6 16.42
8l 1104 E =X EES ST 6 17.20 8| 1849[hi A JXLFZ—F 6 16.43
11180158 B3 A2 HJIAC 6 13.19 8 1] 1514|FE ®E=% SR EFRC 6 13.73
21 1301 |prrEp BBk JXEAC 6 14.12 2162601|&F #* HOPESPORTSCLUB(=) 6 13.95
J[1121[ AR EX HRJ 6 14.74 3 1606|FH ZH=H E X 6 14.08
41514 XIE B FRERC 6 15.41 4] 1305[#AH EHE UEMT=KSC 6 14.83
5| 1104|158 EARY [BEIS T 6 15.43 5| T121[EE X HRJ 6 15.30
6] 1605 =5 74t FAJ)—F*xvyk 6 15.62 6[91910[#JI  XBA == (&) 6 15.60
711819[ 7#E FLEFYS T 6 15.77 7/ 1104[@EEx_RA EEZS T 6 16.00
8l 130b|kEA k& UoNEKSC 6 15.85 1203A[le  FEBR HJFAC 6 DNS
INEIEST " HRJ 3 14441 10]_ 1] 1605[FE XAFB FAJ—Fxvy k6 13.51
21 1605 E WA FAJ—FFYk 6 14.48 2| 1200( 2y %= EARAC21=ZF7 6 13.93
3[91910[#EMA A, == (&) 6 15.14 3[1104|HF W& EETST 6 14.24
41 1104[/NER &2 BEESS T 6 15.37 4] 1300|@EH = U5MT=KSC 6 1457
5[ 1305[iE&X HR& UM =KSC 6 15.58 b 1217|EM  &RE HZAAC 6 14.90
6] 1200[#m =t EXCa1=7 b6 15.76 6] 2702 =i HEsF S A 177 6 15.46
71 12037k H  #&Hit EEBAC 6 5.79 7191910[=F B EE =% (%) 6 15.48
81 2702[& B E [vwvsryr+vasy 6 5.81 8] 1606]HR HIE E X 6 15.83
11 1605[#2—y #ev+|[7xU—FrEXv bk 6 3.73 ] 12 1] 1121[HE EX HRJ 6 13.43
21 1217[#AK  F|1E KAAC 6 4.23 2| 1200[# 4RED EXCaZ=F7 6 14.04
3|91910(FTB8 B =% (¥) 6 14.26 3| 2702|xt @BED SeUEVY N AZF 6 14.47
4[1121/NE & HRJ 6 14.67 4191910|EM #R—8 [==% (¥) 6 14.80
5| 1305[3%FE IhX O E=KSC 6 15.29 5| 110458 #AH EEXEHY ST 6 15.36
6] 1606[JE:n e [EP.N 6 15.64 6] 1606|E5x  ARF [EPN 6 15.39
71 1104[FEE &N EEHYS T 6 15.83 7162701[Z4EE 41K |YSD KIDS(3R) 6 16.29
FEE EZ = ik | XEBFEHGHREL - X0ERLET
111801|&ER B3t 2124 JAC 6 3.19
2] 1305[HE BX VoA =KSC 6 321
~ [ 3le2701[ME 3tk YSDKIDS(GR) 6 13.28
2 [ 4[1217 (& 53 %AAC 6 13.42
~ b1 1217[## BX *AKAC 6 13.43
8 6] 1121[HME EX HRJ 6 13.43
J[1120[1LHA #X Efxxv T 6 3.48
8l 1600 | AJE FAJ—FXY K 6 351




Z5ERESULT20150913

= 4 F4F 100m
?E,\
JIE £ E 2 FEZ = gtk | B R[] K £ B4 2 S8k
1 W B =% (&) 4 5.77 2] _111228]E8 k& 10015 &5 4 16.
2 HEM BAL |veesravazy 4 16.32 2| 1305|dh4m  tEfE U5 E=KSC 4 16.
3 =l = UM =KSC 4 16.44 3 1104[ K78 BEZE EESIST 4 17.
4 HEA_ i RKZESRC 4 17.08 4] 1200]|X%88 A= EAXS2=—7 4 17.
5 XxXH EIEF HEAC 4 17.13 | 1618[FJII EZ FEAEE 4 18.
6 X5 BERTF [10015v&5 v 4 17.33 6] 1120[1FmM =X E2hzxxy T 4 18.57
7 =S JXEAC 4 18.06 71 122848 < %% [10015>&5> 4 18.76
8 NI ¥y T 4 18.32 8]61901|gkH EBX EHCa-7 (2 4 20.26
i WA AHOA [RINFy T 4 16.08 4] 111702]=H ==Z RNy T4 16.12
2 RS ﬁﬁ%ﬁ JXEAC 4 16.21 21 1104[FEE & EESST 4 16.15
3 =i UM =KSC 4 16.29 3| 1615|AAx F&HEx [JRCHIEL 4 17.20
4 BA mﬂﬁu %iiSRC 4 16.35 4] 1618[H:Z B B 4 1757
5 APE_EX £ (&) 4 16.39 5| 1602| 5 H =% R KRZESRC 4 17.58
6 BA E#E HAC(R) 4 16.68 6] 13058 AME [UHHAEKSC 4 17.71
7 A By 10015 v &5 4 18.09 7/ 1201IEA == WHS1=—7 4 18.02
8 [EX T2 ZEFKSRC 4 18.23 8 1228|FEAX =% 10015 v &5 4 1857
1 SH =f RAESRC 4 15.64 6 1] 1801 gx S=E |AISHJIAC 4 15.43
2 BEE OKE HAC(X®) 4 15.87 2] 1301[Kdt &%’ JXEAC 4 16.52
3 Ba%EE Xid == (&) 4 15.93 3] 1200+ Bx EAXACo2=—7 4 16.62
4 HE =5 E2hzxkxy 7 4 16.18 ARECEHENREE UHNEKSC 4 17.20
5 HE BE UM =KSC 4 16.71 5| 1104[FH B EESIST 4 17.94
6 MME =T |sPOhEE 4 17.25 6] 1228|fkf S#EE [10015>&5Y 4 1821
7 J\H &= 10015 v &5 > 4 17.49 1602|#E  #£3k RKRZESRC 4 DNS
i B %z EMT7y T4 14.99 8 1] 1602|gika Y E SR ARESRC 4 15.78
2 la B ES HEEAC 4 15.33 2] 1305[=11 Ef V5N =KSC 4 16.35
3 B EE VoM =KSC 4 16.56 3| 1801 [#HHA W#EE [AI-HJAC 4 17.15
4 ER =T E2hzx%xy T 4 16.68 4] 1618[F Il #k= FBAEE 4 17.41
5 NEEEEES 10015 v &5 4 17.18 h[91910[#BH ¥E =% (¥%) 4 17.54
6 FAE SRk a7 4 18.91 6] 1623[AlR BEXE K#HSC 4 18.30
YA FAAC 4 DNS 7 1228|mE &% 10015 v &5 4 18.48
8
i ff ok RWU1-7 G 4 16.19] 10
2 PITIN EXCa1=—7 4 16.29
3 /J\E S UM =KSC 4 17.95
4 21 B 10015 &5y 4 18.33
5 FE B M7y T4 18.44
6 I\ ##E R KRZESRC 4 18.72
e #EE UM =KSC 4 DNS
& | K £ FIEZA =2 Frc
1 B EZ RMT v T4 499
2 EpE PR3 HEREAC 4 5.33
~[3 BA =T |AIZHJAC 4 15.43
Z | 4 %EE Ecied R KRZESRC 4 15.64
| b Wil = == (¥) 4 16.77
8 6 ﬁJzJ%‘E 58 R KRZESRC 4 15.78
7 A HAC(XR) 4 .87
8 %EE ZIE =% () / 5.93




Z5ERESULT20150913

- 4FBF 100m
ELEX S
RN KE % R4 = ek | 48 B RS 4 FE% 2 ek |
1 11121 ER ZEXR HRJ 4 552 2] 1[61901[/hO #EX mEHC1=7 G 4 14.95
2| 1306(25 #= O EKSC 4 15.70 201311118 84 2 EFKSRC 4 16.03
3| 1301 |#1H #RE O XEAC 4 16.15 3 1121 IR =3 HRJ 4 16.23
411121 X8 BR4E HRJ 4 17.28 41 1401 [h Il EX EFNED 4 16.64
5|91910[#AH EEAk == () 4 17.73 51 1305J1EM #EBA |U06h7zKSC 4 17.10
6/ 1305|5F BE UM =KSC 4 17.89 6[919103EN =& == (= 4 17.69
7919100 Bt == () 4 18.84 71 1228|)Il78 BR 10015 v&5 Y 4 17.68
1203|ch#k @A |HEAC 4] DNS 1605[MME & [7AU—_F#vk 4]  DNS
3| 1[1819|#a 1/ &5 HIEESI ST 4 15.41 A 1] 1121|538 3K HRJ 4 15.54
21 1801[EH B I JAC 4 15.49 2] 1801[db)Il ¥ 124 JAC 4 15.60
3[ 1318|@HH p SFOHER 4 16.04 3] 1200|4&1H RE EXSa2=7 4 16.04
41 1301 (g =3k JXEAC 4 16.13 41 1121[FH #F& HRJ 4 16.29
5/ 1305[&JIl H O =KSC 4 16.53 5[91910FH FAB [=%F (E 4 16.69
6l 11215 72 HRJ 4 16.65 6] 1311|= B¥E 2 EFKSRC 4 17.30
711228[mJ1l #& 10015 &5V 4 17.41 71 1305|K:FE FEA UOsM=KSC 4 17.50
8l91910[=F8 =3 =% (F) 4 17.86 8| 1704[#E T4 HixJC 4 18.83
b 11 1623[JIIJE  [E#H A#HS C 4 15.42 6 1] 1801[pER &5 12 JAC 4 14.99
2[ 1318 & SF O EE 4 15.68 2] 1305|/hp8 ZZE UM =KSC 4 16.88
3| 1121[FIE #8 HRJ 4 15.90 3 1121]/ZF  #8 HRJ 4 17.00
ARNARENET EEY ST 4 15.98 4[91910[F X& == (= 4 17.13
5[ 1305[/MIl 1Bt O =KSC 4 16.57 5| 1523|ARHF & XS C 4 17.62
6[91910[F £ A =% (¥) 4 17.06 6[61901[FA =& mHU1=7 (0 4 17.86
711819+ A REES ST 4 18.35 71 130144 K BEA [TJRXEAC 4 17.92
8l 1311|= z 2T BFKSRC 4 18.75 8191910[F8 & =% () 4 23.84
7 11 1121lUAK X HRJ 4 15.48 8| 1]91910|KFE @ts == () 4 15.33
2] 1305 |MAK B 10 UOomi=KSC 4 16.55 2| 1121|4628 ERK HRJ 4 16.16
3| 1305|FE =X O KSC 4 16.56 3[62701%8 & YSD KIDS(ZR) 4 16.59
41 1819[JII.LE Kl NILELESIS T 4 16.65 41 1228|/\ig Rl 10015 V&5 4 16.95
51 1311 [l [EE3L R EFKSRC 4 17.18 5[61901|3R;T FRME mHo1-7 0 4 17.59
6]/ 13013 .E T JXEAC 4 17.34 6 1305|FH X#0 O =KSC 4 18.93
J[1121|RI¥ 1/t HRJ 4 17.98 7/91910|BF WE == () 4 19.85
8191910/dk#k ZHE =% () 4 18.14 1311[#) K= X EFKSRC 4 DNS
Bl EE] KE £ PE4 = S8k |
1161901/hO =X w#HTa1=7 (m) 4 4.95
2/1801 &R EH 124 JAC 4 14.99
R [T3]91910| X7 Bt =% (%) 4 15.33
A A[1819 M BA NIEESI ST 4 15.41
~ 511623 JII/R  [EtH A#HSC 4 15.42
8 6l1121IUAK EH HRJ 4 15.48
711801 :ZH B 2124 JAC 4 5.49
8[1121 (XK EX HRJ 4 5.52




Z5ERESULT20150913

= F—T oL FQRELELUT) 100m
?El’\
B &= K % TEE ¥ i | mE e K Z TEE T ]

11_1[2702[ 8% & SV TR 1T ) 7.75 21 _1]91910]&@ /= == (= 3 16.17
21301 [I% B3Rl JXEAC 2 18.16 21 1801 [#k2 A 1E [HIZHJAC 3 17.24
3| 1203[gIA = ERAC 2 18.47 3| 1605[HE FF FA)—FFxy kD 18.36
4 1801 /NI BBE A 1ZHJAC 1 18.93 4] 1104|/Ax Xz BEESS T 3 18.58
5|61901(FEE & REUa1=7 (0 2 20.57 bl 1311|&R w3 ZEKSRC 2 19.30
6] 1311|XE & ZEKSRC 1 20.61 6 131T1[/h#k D& [ EFKSRC 2 2421
R E ZEKSRC 1 20.93 1201{HO__%#& WH 21-—7 3 DNS
8152701 5@ &7y %EILHBRC (&) 1 21.40 _ _

3 _1[1801[&EH =¥ 72 I JAC 3 15.38 | 4| 1| 112155L FRER HRJ 3 16./5
2| 1200|BE& =®RF EXCa=7 3 16.57 2] 1301]1af Bt JXEAC 3 17.30
3[1801|FEH 41 %I JAC 3 17.16 3 1602[FH H&E SRAGESRC 3 17.64
427022 B [ errr+az7 3 17.66 4] 1121 K& FTH## [HRJ 3 19.15
51301 O JXEAC 3 18.19 5[91910[ILF =& == (& 3 19.60
6[91910|&2A& FiJy =% (&) 3 18.38 6]91910[fHE k= == (& 3 19.74
7[91910]KR4F == (&) 3 18.52 7[1318|F &% SEOTEER 3 20.44

5 _1]91910| XA T4 =% (&) 3 1666 | 6| 1161001 EREIl BZ= [m#ra-7 & 3 16.40
21 1602[#HE %8 R AESRC 3 18.11 2| 1602|E&X EH RARESRC 3 1714
3] 1200[@+  mEhE EXCa2=—7 3 18.37 11197 =2 WHAE 3 17.16
4[619013EH & A mHC1=7 GO 3 18.92 41 1121 Bl B3¢ HRJ 3 18.34
5[ 1200[&F EZ EXCa2—7 3 19.01 5| 1200 &I (B3 EXSa1=7 3 18.61
6] 1602[ 4 £E R AESRC 3 21.02 Bl91910/NMEH HFE [=F () 3 18.66
7 1801[EE BTt 7212 JAC 3 23.36 HEEINIEEESS == (¥) 3 19.51

7L 11311 KE_=% X EFKSRC 3 1718 8
2111218 BRF HRJ 3 17.55
3| 1606|FE & FAJ)—Fxv bk 3 18.19
ARIESERE SRAESRC 3 18.27
RN eSS == (&) 3 18.75
6] 1301[5H =% JXEAC 3 19.20

1819[dh @45 SULEFS ST 3 DNS




Z5ERESULT20150913

= F—TUBFQRELELUT) 100m
BT
18 Bl EE K R4 = ek | A ] FE ] K £ FE4 = ek |

T _1[62701 &0 A YSD KIDSGR) 9.05 21 113111 1B Z #FKSRC 2 18.10
21 1311[RR 330 ZEFKSRC 1 19.06 21 1203[#ts & |[HERAC 2 18.86
(1311 &4 ZBKSRC 1 20.12 3[ 13013 B JXEAC 2 19.05
411121188 ht HRJ 1 20.15 41 1203[zxH _ #FH/\ HEAC 2 20.96
b 1801|FEH [REE 71245 JAC T 20.29 5| 1614 KIE_BE SFREFRC 2 2212
6] 2407 B0 BE =W RC 1 20.85 6| 13118 & ZBKSRC 2 2213
7[1104| X8 =F BEES ST 1 21.03 7 1605/hg&x  1&E FAJ—Fxry k 2 2301
8| 1203|=& &% HJFAC 1 2212 1203 X= HFEAC 2 DNS

3[__1] 13071 |% =&k JXEAC 2 16.82 | 4 1| 1120[00@E &I Zhx¥vyJ 3 16.02
21 1120[ & @ ELFED ) 17.58 2[ 162318 &=iF x#SC 2 17.06
3] 1301 #0H EX O XEAC 2 18.72 3[ 120338 & HRAC 2 17.76
4[1203[ L& & HIEAC 2 20.11 4 T121[%K =k HRJ 2 17.96
5[62702| 41 Z{% HACER) 2 20.99 b 1200[FEH BX EAXAC1=—7 3 18.01
6] 1203[\LMA FAXRER [HEAC 2 21.20 6] 2702[#%  FE ST A mT D 18.48
7[1120| kB & ELFED A 21.68 7 1523|%Ak RE X#SC 2 19.02
8| 1819 ME ER HIEESS T 2 2218 8l 12035 = HRAC 2 19.49

5| 111301|&& BX3F JXAEAC 3 15./6 6 1[1121[F®E HE HRJ 3 16.31
2] 11215 #x HRJ 3 16.81 2| 27028k =X S Az 3 16.47
0o EE RE (== () 3 16.98 3[ 1201+ #HE WH 21-—7 3 16.73
411311 BH ZEFKSRC 3 16.99 4162702]F K Y < HAC(R) 3 17.49
5[62702|ZJ)Il 2R T HACGD 3 18.22 5 130T[ILA B JXEAC 3 18.06
6] 1104|HA FHEED [EFHZ T 3 18.41 691910 F A Z == (&) 3 18.12
7] 1514|3278 K#0 FERERC 3 18.44 7 1523|BEX EE X#SC 3 19.04
8l91910[41H == () 3 18.51 _

7[ 11 1606|#.F =& FA)—Frxv k3 15.43 8 1] 1523[7FEX &R AHSC 3 16.11
2013111 B4 ZEFKSRC 3 15.71 2[62702| /%A 5 HACH) 3 17.44
32705 F&E WESZE 3 15.85 3[91910[EEH X& == (X) 3 17.47
4[1217[% ik HAAC 3 17.11 4 1121|HE FHE HRJ 3 17.54
5[ 1301[F# E h%E JXEAC 3 17.93 bl 1121k _AE HRJ 3 17.86
6] 1104| X7 BHA [EFHST 3 19.03 6| 2702/ &= ST T 1m7 3 18.37
7]91910[3k  K&4 == (&) 3 21.70 71301 2H# 1550 JXEAC 3 18.82

9] 162702 B4~ mA HAC () 3 16441 10
2] 1301 R X5 JXEAC 3 17.95
HEIEIN = == (&) 3 18.40
41112111 %  H# HRJ 3 18.80
5[ 1104[HO B|A EESZS T 3 19.34
6] 1203[71A mE HIZAC 3 19.42

1301 == =K JXEAC 3 DNS




Z5ERESULT20150913

b&FE4LF 4xXx1T00mR
RS _ _
No._ el A-| (AL \UE No. 2| 4-| (B4
| £ JEGT] A-b E£ = E 4| g IBf7 A-p E£ E FE15-] Ek
711602[BK ®&LTE [RARE—-HA 51 712018k BTy WHSa2Z7A 5i1
1 [71602(F8# k485 RR=Z—5A 5210035 71201 |#A L INE WHT2=F7A 5i 210048
71602 |7iTH Eﬂ% ERE—BA 5i3 71201| K87 KTy WHY21=F7A 5i 3
T1602| AR ¥ZE RRK=E—HA 5i4 71201 (@A Bk WHY2=7A bi4
71305(FE F&F UBHEKSC-5A Hi 1 713111l 7t X BFKSRC il
3 |71305| LA —% vBntEKSC-5A 51 2| 1.00.97 4 71311 |FEH FEER |KEKSRC 5{211.01.00
71305|/ 8 WE UBmEKSC-5A 5§ 3 1311|118 BET  |RREKSRC 5: 3
71305(& )1l —%F UbnKSC-5A 5 4 71311 | & =1 ZBFKSRC i 4
1
71801|BEE S&/d BIZbJAC—C 5: 1 71201|giiA =E WHS2=7C 5: 1
M| 5 (71801|4EmE kk BIzbJAC—C 5i 2| 10526 6 |71201|3EA == WH2=7C 52| 10535
71801| K AR BZE |#ichJAC—-C 5i 3 71201 |5E3  #0 WHSa2=7C 5 3
71801|/N)1| E=E BizbJAC—C 5i 4 71201 |&# FF WHY2=7C 5i4
1705|EHA =& W75 ARy "—X 5 ] 71228| Rl BF 10015 &5 bil
7 [1705|lLA [BTE Ry 5 2ky =2 51 2| 1.06.72 8 |71228|1LuE ##] 10015 &5 5i2(111.08
1705|=4 48 WA Y5 2kys—% 5i 3 712285 Ze 10015 &5y 5i 3
1705(ILA& 7B RESS2kv—x Bi 4 71228|lUA  FE= 10015 &5y 5i 4
71702 EBEH RINTF v FI-5 bi 1 1618|EE #17E StER A il
1 [71702|H\A  ®0F M7y FI-5 51 2[1.01.90 2 | 1618|800 =E= FEAERE 5i 21 1.02.08
71702\ FAR Fk EBMF7y FIL-5 51 3 1618 |#kR  1E5. KRB 5:3
71702|BA ¥ B2INFw FI-5 5i 4 1618|=% ZE&H SERERE 5i 4
71305| Nk B3 UBMEKSC-5B bi 1 71200| B H=E EAXS1=7 bHili
3 |71305|1148 M= vsnEKSC-5B 5i 2| 1.03.84 4 |71200|R& #wF EXYaz=7 5i2]|1.0461
71305 |F# =F£Z& UBbM=KSC-5B bi 3 712001/MER. =R |BAS21=7 53
71305(ME #&F UBHEKSC-5B 5 4 71200\ B4 WS ERXCaz=F7 5bid4
2
71104[MEEE #£1E [BEESY 5 TJB5A 5 1 71602(FIL &=& RAKE—HB b5l
| 5 |71104|FY MmHEZE [EEXHZTJ5A 5i 2| 1.05.01 6 |71602| =B =5 RKZE—-5HB 5i 21 1.05.35
71104(#AH B eE¥4~ S5 JBA 5i3 71602|1LO B4 RA#E—5B 5:i3
71104 |8k & feEES > J5A 5i 4 T1602|BEA WS> |RKE—-5B 5i 4
71201 |FFH #3F WHS21=7B 5! 1 291910 #4F # =F5bA (£) 5i1
7 |71201|¥ @ WHY2=7B 5 2| 1.05.62 8 |291910|FJIl &HFER ==5A (¥) 5:2]1.0573
71201 |[E Z=A WHIa2=7B 53 291910|85@ HEIEH |==5A (&) 5: 3
T1201;EH %7y WH>Ya2=7B 5i4 291910|/ifJIl =2 ==5A (&) bHi4
- -
B | &S E £ FES A G B | FE E £ B4 e FE
716022~ BRIE |RAZ—DA 5 1 71201 |7k BTy WHY1=7A 5 1
1 |71602|F8F =85 RAKE—HA 5 2 2 |71201(# /NE\E WHS2=7A 5 2
71602|RiIH E% RBRE-HA 5 3] 1.00.35 71201| K81 KTy WHEHSa2=F7A 5 3| 1.00.48
71602| AR ¥= RAR=E—H5A 5 4 71201(fMMA Bk WHS1=F7A 5 4
71305|8RE F& UsHEKSC-5A 5 ] 713118 Il it ZEHKSRC 5 1
3 |71305| UM —= UbnEKSC-5A 5 2 4 |T1311|FBH FEL |XEFKSRC 5 2
~ 71305| 58 A vbmEKSC-5A 5 3| 1.00.97 T1311|)I1#8 HBE | REKSRC 5 3| 1.01.00
3 71305[#JIl —% UbnKSC-5A 5 4 71311 | &N =1 ZEBFKSRC 5 4
k 7702 AK EXH EM7y FIL-5 5 1 1618|3E& FTE StER & 5 1
8 | 5 |71702|B4 4HF 27w FI-55 2 6 | 1618|000 == SEREE 5 2
71702|FAR Fp FEM7yF-55 3] 1.01.90 1618|kiR B3 iR =NE] 5 3| 1.02.08
71702| A H MW7 w FI-55 4 1618|=2% =# HEAEE 5 4
71305( e HEX UB#HEKSC-5B 5 1 71200| @ #H=E EAXCa2=7 b5 1
7 |71305|48 ML= vBHhEKSC-5B 5 2 8 [71200|B& :#H¥F EXSaz=7 5 2
71305|&B = vbhr=Ksc-58 5 3| 1.03.84 71200}/ \1&% %22 EAXCaz=F7 5 3| 1.0461
J1306|NE f#F UbnKSC-5B 5 4 71200| /3 ERXCa=—F7 5 4




Z5ERESULT20150913

58+ 4x100mR
S _ _
No._ el A-| (AL \UE No. 2| 4-| (B4
| £ JEGT] A-b = 15| ok Bl a-p | K4 E 8- gk
71801|chiE BA BIZHJAC—B bi 1 71201 | &8 #&n] WH> 1=7A 5H: 1
1 [71801|REF @K BIzbJAC—B 5i 2| 5589 2 |71201|fgE BBX WHY2=F7A 5i 2| 5761
718071 (BaTER 3k BizhJAC—B 5i 3 71201 |5 H #% WHY2=7A 53
71801 |rootvmz v42- 7v0-~1 |f212h JAC—B 5 4 71201 |18F ¥ WHES1=F7A 5i 4
71306|FRH  [EE UBHEKSC-5A Hi 1 71217 K KFE HFAAC—H5A Hil
3 |71305|&R #hRiC uvsntKSC-5A bi 2| 5988 4 (71217|K8  #IK EAAC—5A 5i2(1.0206
71305[%F AKX vbmn=KSC-5A 5i 3 71217|FA RE FZAAC—BA 5:3
71305|#A8  f@AER |vsmiKSC-5A bi 4 2271 B HAAC—5A 5i4
1
71228\ Ei 10015 >&5 > bid 291910|FhiE BE =E5B (%) bHi1
M| 5 (712081ER  BEHE 10015 &5 b5i 2] 1.06.30 6 |291910|F K {HEE =%5B (%) bi2]1.08.21
71228|5E8E B2 10015 v&5> 5§ 3 29191018 & A =£5B (&) 5:3
T1228|BEAR  JTiK 10015 v&5y 5i4 201910\ /N 1R JE =F5B (X)) 5i4
71605| A% THE FA)—bxy bil 291910 ¥R FEdd =%5A (X)) bHil
1 [716056(d 1 HEF FAY—bxw b5i 2] 10064 2 |291910| B [ ==5A () bH:i2]|1.0280
71605|2 8 HEE |7AU—hkxy 5 3 201910| L E%  [Z=£5A (%) 5:3
71605\ A ; FAY—bt2xy bi4 291910\ A it =%£5A () 5i4
71121|BH HRJ-5A 581 71203|/N\fx  Fm 3 HEAC (A) 5Hi1
3 |71121|HkFHF KA HRJ-5A 5121 1.0291 4 (71203|78% BABl |ERAC (A) 5i2]1.0562
71121 (B8 B4 HRJ-5A 5i 3 71203|# AR HEAC 5i 3
71121 1EBE & HRJ-5A 5i 4 71203|R1H EE HEEAC (A) 5i4
2
1120 =k A BhxF¥wv S bil 71305|=H B U5HMEKSC-5B 5 1
M| 5 |1120|&% &= Echx+wy S bi 210717 6 |71305|E8 A venEKSC-5B 5i 2 | 1.08.60
1120|511 B+t EhxFw S bHi3 71305|A/E H= 0shEKSC-5B 5§ 3
1120|lLA 5 Bhzxxy S 5i4 71305| 2% & UBnKSC-5B 5i 4
- %-
B | &S K £ FES A G JB | FE| 2 PFEZ Fa- s |
7180T|thiE @A BIbJAC—B 5 1 71201 &85 %A WH>1=7A 5 1
1 171801 |88 #\X BizbJAC—B 5 2 2 |71201|fgH BHX WHS2A=FA 5 2
71801 |fAIER  MESF BIchbJAC—B 5 3 55.89 71201 & B WHYa2=7A 5 3 57.61
71801|79 7Av=1 v-]BIcbJAC—B 5 4 AV I=E: - 52 WHY2=ZF7A 5 4
71305\ [EE UBMKSC-5A 5 1 71606[ Ak 1HE FAU—rRybr5A § ]
3 |71305|&A L UBMEKSC-5A 5 2 4 |71605|/ 1y M- FAU—r&yrE5A b5 2
~ 71305 %R #EA VBsnKSC-5A 5 3 59.88 71605|2 8 HEE |7xv—-txvts5A 5 3| 1.00.64
R 71305[#AH f@ABR [vsmfKSC-5A 6 4 71605|d0F & FRU—bxvr5A 5 4
k T1217(Rf  KRHE HAAC—HA 5 1 291910(FAFF  FedR =E5A (&%) b 1
8 | 5 |71217|kEB @A ¥AKAC—HA b 2 6 |291010|AH E =E5A () b 2
71217\ E wHE EAAC—5A 5 3| 1.02.06 201910| LA &% =%=5A (&) 5 3] 1.0280
7121718 EX HFAAC—5A 5 4 291910\ 3R Shith ==5A (%¥) 5 4
TU21|BRH i HRJ-5A 5 1 71203[/Npe B3 HEBEAC (A) 5 1
7 [71121)3RHF KA HRJ-5A 5 2 8 [71203|7E RAR |ERAC (A) 5 2
1218 BE HRJ-5A 5 3| 1.02.91 71203 |k KB HEAC (A) 5 3| 10562
71121 |4Epk oW HRJ-5A 5 4 71203|HIH [EIE HEAC (A) 5 4




Z5ERESULT20150913

6 FELF 4xXx1T00mR

S _ _

No. el A-| (AL \UE No. 2| 4-| (B4
| 8 JBG) b | K = 15| ok B A-b E£ E 8- ek
71702881 = RIMNT v TIL—A 61 1 71201 %@ KE WHY1=7A 6: 1

1 [71702|BE = RM7yFIL—A 62| 57.69 2 |71201|¥EHT  FF WHY2=F7A 6i 2| 57.79
TI02| AR KEHBE [RM7vyTFIL—A 513 71201k IR WHEY21=F7A 63
71702|HE BB RMNTyFIL—A 5i 4 71201 |/ 5% WHY2=FA 64
M217|fEL #E [®XRAKAC—6B 611 17053 Ef# REEY 5 ARy A—Z Q1 ]

3 |71217|BA P HAAC—6B 6: 2| 59.68 4 [1705|R (5 WEy52kys—2 61 2 | 1.00.61
27| ER R KAAC—6B 6§ 3 1705|3E HJhfE |REI/S2Av—2 61 3
711217(&H# <5 [XAAC—6B 64 1705|EF  # W75 2Ry —Z 61 4

1
71801 #% BIZbJAC—B 6! 1 71228| 810 &> 10015V &5Y 6 1

#M| 5 |71801|#HE #HF BlzhJAC—B 6: 2| 1.01.90 6 |71228| AR %8 10015 &5y 6: 2| 1.04.15
71801 |8 HE BIzbJAC—B 6 3 71228| L8 ®H 10015 &5 > 63
71801(#E AR BIzbJAC—B 6i 4 71228|BAK 1&E 10015v&5> 6 4
201910| By EAt =F6A () 6i1 71305[ LA ==Y VEMEKSC-A 61 1

7 |291910[#AK £F ==6A (¥) 61210454 71305|f@% = USMKSC-A 6 2| DNS
291910(88 EH ==6A (&) 63 71305|= 1L B VoME=KSC-A 6 3
291910\ K7q EF =E6A (%) 64 71305|/0\)Il  Sk#E VsME=KSC-A 6 4
N7/ #HF HAAC—6A 6 1 1849|5m4F B DXLT7—Fk 6i1

1 (71217|45H Kk&KHE [%AKAC—6A 6 2| 56.99 2 | 1849|"H# AR JXLF7—hKk 6:i2]| 5824
217\ /K BRE H¥AAC—6A 6i3 1849|3R8)  ZFK JXLT7—hFk 6:3
71217(E BE HAKAC—6A 64 1849|8% BN JXLF7—h 6i4
T1104|1£8 WIB&=+ |[BEEEY ZTJ6A 61 71605|&HF FI& FARU—bERy A 6 1

3 |71104|FR)Il FE BEE~ S J6A 6i 2| 59.04 4 [71605BR HBMHE FAY—kxv A 5i 2| 5942
71104|AFR E EES S5 TJ6A 613 71605| L %8 FAU—bxy bA B 3
71104 lUAR  EXK BEES S5 T6A 6 4 71605|Z8% HXx FRU—bxy A Bi 4

2
71301 IL~N  ETE ORXREGA 5i1 261901/ ZE3! =Z#HT1=7BE 6 1

#| b |71301| EHA =4 [aXEGA 6: 210137 6 |261901|PE BHEE |m#Ya=7BGE) 5i 2| 1.02.78
71301 | BlR  1&&F OXEGA 6: 3 261901|KPF ZEE =#>a1=7B@E) bHi 3
71301 | LB %8 JXEGA 6i4 261901 (BkFH YD m#U1=7BG) bi 4
71306|/\E  =Efh Ubh=KSC-D 61 1 T120[RE1L  #0iE Bhzfy T 61

7 |71305|iH =& vBMKSC-D 6 2 | 1.03.17 8 | 1120|8kH =% Erhx¥wy s 6i 210383
71305|@/R &= UBMEKSC-D 6} 3 1120|&2@ %5 Bhxfy S 6:3
71305|8  FE vsnEKSC-D 6i 4 11201/N\&ER B ([BhXFy S 64
26190120 HEZX  |"BC1-7AG 6. 1 71306| 3 Z=ZE  |0B5AEKSC-C 6.1

1 |261901| 5[ FE FHCA=TAGR 6i 2| 56.63 2 |71305|&% HhHt |vsrtKSC-C 61 2| 1.01.93
261901\ B3 EF RHU2-FAG 6} 3 71305[#F  mEEg V5MEKSC-C 6 3
2619015+ A 1&A mHC1=F7AGR) 6i 4 71306 s veEME=KSC-C 61i 4
71121[k4R  RZE HRJ-6A 6i 1 1615(fIE BEER JRC#[EH 5bHi 1

3 |7T1121|EH EZE HRJ-6A 6i 2] 1.0290 4 | 1615(IlU N Hk JRCHIEH 6: 2| 1.03.31
N2 EE HRJ-6A 6:3 1615|380l H2%A& |JRCHIED 6i3
T2 IUT™  ENW HRJ-6A 6: 4 1615| 2K HE=E JRCHIEH 6: 4

3
711195 H = HHAEB i1 71301 |{EfE WAt JXEG6B 6: 1

#8156 [71119|H L FijfE HHAEB 6i 2| 1.0357 6 |71301|&mM iy JOXEG6B 6210446
71119|% F=2 MHAANEB 6:3 71301 |HEE  #kiE JXEGB 6i3
TI19[{KE MHAIEB 6: 4 71301 |y (B3 JXEGB 6:4
716514|EO0 HBZE FEHBRC-C bl 1 (|&3ZZ85% 1604 (/AR FEF [H|RC 6: 1

7 |7151450K B PRERC-C 6 2| 1.05.14 1604\ /3 EBE&E [H]|RC 6 2 DNS
71514(3r7E B FIHEBRC-C 6:i 3 DQ 1604|BH MAKF |H|RC 6:3
71514|ME = PHREBRC-C 6:i4|3—4%= 1604|1LE  FF HRRC 6:i 4

8m#-n'-




Z5ERESULT20150913

71801 |18 Z0M |Gl-bJAC—A 5. 1 71200| /%A #E3 EAXAC1=7 6:1
1 (71801 |FH =mt BlzhJAC—A 6i 2| 56.00 2 71200 RAZE BERXCaz=7 6:i 2] 5650
71801|BH =4 #IzhbJAC—A 5i 3 7120083 H¥E EXY1=F7 6i3
71801 KAMRE FHEK |[wizbhJAC—A 6: 4 71200|&48 EAXCA2=ZF7 64
1119(455 %A MHFAEA 61 71305 B/E UBMKSC-B 6! 1
3 |71119|(FiE =8¢ WHIEA 6i 2| 58.60 4 [71305[/N)I] &< 5 |obnkKSC-B 6i 2| 5888
71119(€ st FHREA 6:3 71305|%ME Y b U5ME=KSC-B 6 3
71119|BIFF FZ BFHAEA 6: 4 71305|E+  BERD VsME=KSC-B 6 4
4
291910\ /A 1&RZ =F6B (&) 5i1 1819|mE  #01E HpEESTST 681
8| 5 [201910|FHf thU’_ﬂ* =%6B (%) 62| 59.41 6| 1819|EH =EF LSS 7 6§ 2 1.00.03
291910\ R =3 =%=6B (%x) 5:3 1819(db8 IO HILEESST 613
291910| =8F K= =E£6B (X&) 5H:i4 1819| KA /NE |hUEEY ST 6: 4
T1702|MAK &5 =27y FIL-B 51 71305|chE, EEm¢ UbM=KSC-E 6. 1
7 |71702| A Bz M7y FIL-B 6 2| 1.03.81 71305(25)1| = UBMEKSC-E 6 2| DNS
71702| IR E FEIMFvFL-B 5i 3 71305|@ EF UBMEKSC-E 5§ 3
71702(F8 ®E REMT7YTIL-B 6 4 71305\ b1 |vbHnEKSC-E 6 4
#- 4-
B | S E £ ES 2l JB | FE E £ FES 24 e |
71801 [JR: I8 220 |&lcDJAC—A b 1 71200 /A FEx EAC1=7 6 1
1 |71801 |4 =t BIZHbJAC—A 6 2 2 |71200[ RAZE EXYaz=7 6 2
71801|BH =& #mizhbJAC—A 5 3| 56.00 71200|3EH# B EAXCa2=7 6 3| 5650
71801 | K AR FK |[HIcbhJAC—A 6 4 71200| 548 ZEHh EACa=F7 6 4
261901 ;=W HZXR RHC1=7AGE) 6 1 N217|EH &% HAAC—6A 6 1
3 |261901|E[ FHEE FBC1=TAG) 6 2 4 171217|5H KKE |RAAC—6A 6 2
~ 261901\ B3 EF m#HU21=7AG 6 3| 56.63 71217|¥A%k  BR&E HAAC—6A 6 3| 56.99
z 261901|5t A& A FSMCa=7AG 6 4 217(h7E % *AAC—6A 6 4
k 71702 &)1 & SMN7 v TIL—A 6 1 71201 |#EME kBB WHS1=7A 6 1
8 | 5 |71702|@mE =& SM7YTIL—A 6 2 6 |71201|HER FIF WHS2=F7A 6 2
T1702| A%y kEE |[#MF7yFL—A 5 3| 5769 71201 |7k BB WHYa2=7A 6 3| 5779
71702|RH BB STy FIL—A 5 4 71201 |#hE  soFE WHS2=F7A 6 4
1849(5[Ff HEMH JXL7—F 6 1 AEIEEEES HHIEA 6 1
7 | 1849|H AR JALZ—k 6 2 8 (71119 = BHAEA 6 2
1849|978  FFK JRLF7—hk 6 3| 5824 71119|& s HHAREA 6 3| 5860
1849|&% HXED UXLF7—h~ 6 4 71119|BIFT  FEgZe BHREA 6 4




Z5ERESULT20150913

6EBF 4xXx1T00mR
S _ _
No._ el A-| (AL \UE No. 2| 4-| (B4
| £ JEGT] A-b E£ = 15| ok [t B Ef E 8- ek
71801|HH A& BIZHJAC—A B: 1 71201 |98 B WH> 1=7A 6: 1
1 [71801|&3B B3k BIzhJAC—A 6 2| 5200 2 [71201|FE Kith WHS2=F7A 62| 5495
71801 1udp  KiE BIZbJAC—A 6i 3 71201 |BTA  BA WHS2=FA 6: 3
71801 (d A EEHR BIzbJAC—A 6 4 71201 @A FE WHSA=FA 6 4
71200(%2[E FEE EXCa2=7 61 71305[;%R ThK VoM EKSC-C 6 1
3 |71200|#2SF $RER EARXCa=7 62| 5608 4 |71305|3H+ Etb vsmEKSC-C 6: 2| 1.01.74
71200|48 |5 25a) EXCa=7 6:3 713055tk FHi& UBbMEKSC-C 6 3
T1200| Bl &% EAS1=F7 64 71305|¥AE  EE{A VsMEKSC-C 6 4
1
71228| 885 &% 10015 &5 6 1 291910[5PE MR =E6B () 61 |8&x6
#B| b [71228| A& BE 10015 &5 6§ 2] 1.06.67 6 [291910|4EE & =F6B (X&) 6i2]|10147
71228 luA EEZAN [10015>2&5> 6 3 291910\ )11 XHA =E6B (%) 6:3 DQ
71228|5tH K 10015 &5 6 4 291910\ KA SR =£6B () 6i4]| 3—4
SmA-n-
713071 AR A JXEGC 6i 1 TM21|A &S HRJ-6E 6: 1
71301 |k KA OXEGC bi 2 DNS 71121 KRFE W HRJ-6E 6i 2 DNS
71301(EMAF  $RAR JXE6GC 5i 3 TM21|FEK R HRJ-6E 6:3
71301 A EzB) [3XEG6C 5i 4 71121 |5E8  —44 HRJ-6E 6i4
T1217|#AK  ZAE HFAAC—6B 6 1 I ES HRJ-6B 6: 1
1 (71217|EM =E *AKAC—6B 6i2| 57.14 P VARVARE == N HRJ-6B 6i 2| 5871
T217|[5E  FAR H¥AAC—6B 63 TM21| RN EX HRJ-6B 6:3
NM217|&KRE WK [XRAKAC—6B 6i4 121 &R Bt [HRJ-6B 6i 4
71606|FE #EX FARU—kFy B B 1 71305|mF)Il /& UBAEKSC-E 61 1
3 71605/t & 7AY—r%xy B 6i 2| 1.00.79 4 |71305(IEH [Fi&E UbME=KSC-E 6: 2] 1.01.02
71605(B8 K& FAY)—+r%xy B 613 71305|F K K v5M=KSC-E 6 3
71605 == =4t FRY—r%xy B 61 4 71305|;2H GAME UV5n=KSC-E 6: 4
2
71301|H £ K JXE6B 6 1 1819[J&E #BX ApEESIST 661
# | b [71301 | H BEE JOXEGB 6i 2110271 6 | 1819\ I#E NLEELES ST 6: 2| 1.04.02
71301 |#HF K& OXEGB 5 3 18192 = HIEELES ST 603
71301 |EH ZF JXEG6B 5i 4 1819|/NE8  FEAM fpEES ST 68 4
71514 F W #hE PRERC-B b 1
7 |11514/\ R ESR PHRERC-B 5 2| 1.056.49
514K TF FIEHBRC-B  6: 3
71514|EH HE FIREBERC-B  5:i4
71305 = R VLM =KSC-B 6§ 1 71605|#a3—1U FEVF|[FRU—Fxv A B |
1 |71305| & %N UbM=KSC-B 6: 2| 53.06 2 (7160558 —& FRU—kERy A 6 2| 5454
71305|&# B UBAE=KSC-B 6§ 3 71605\ £ KZ FAY—hERyrA B 3
71305(E7k #R3t VsME=KSC-B 6i 4 71605|1FE X¥E FRU—kxv A B4
201910848 EIA =%F£6A (£) 61 1849(ch4t fEA JXL7—Fk 611
3 |291910|EH $R—B] [==6A (%) 6i 2| 5753 4 [ 1849|ILH —%& YRXLF7—b 6i 2| 5847
291910| RA B =F6A (&) 63 1849|F)Il &C JAL7—hF 6§ 3
291910(4TE BZ¥E =E£6A () 6:4 1849514 Bt YJXLF7—bk 6i4
3
712010887 S ARBE |[REPa=7B 5i1 711218 FE HRJ-6D 61
#8156 (712014 S WHI2=7B 5i 210134 6 |71121|#AF  #8k HRJ-6D 6i2]1.01.89
71201511 KIE WHY21=7B 6i3 21| &EE £t HRJ-6D 63
71201 (e HIF WHT1=7B 6 4 7112158, XK HRJ-6D 6: 4
71104(fA A BEE B 6 1
7 |71104|5R BEAED |EE 7B 6i 2| 1.0412
71104|/ £ =X BEE~ZSTB 613
71104(FkEH BAE®E |EEXES>TJB 6 4




Z5ERESULT20150913

217[%%  BA HAAC—6A 6 1 HE BN HRJ-6A 1
M217|\hE EH ZAAC—6A 62| 5294 Hifl EX HRJ-6A 2| 55.08
71217\ H B KAAC—6A 5:3 @ﬁ BR HRJ-6A 3
N2171FH *AAC—6A 6i4 INE & HRJ-6A 4
71614|HP  ZHth FIREBRC-A 51 INEFIR B BEESSTA 601
71514(h e EBk PERERC-A 6 2| 58.06 Heh W4 EEH S TA 6: 2| 59.39
TI514()IIF  J&EH FIREBERC-A 63 WE EAH BEESSTA  6:3
71514\ KIE B35 FIHEEHRC-A 64 Gl ST BEEYSTA 64
2702 B M [Prevsriazy 61 Bk E# [0BhEKSC-D 6 1
2702|xt #BHB vy azr 61 2 | 59.67 Bl BX vumMEKSC-D 6i 2| 59.79
2702188 —iE VeV az7 b3 INK BK UBM=KSC-D 6 3
2702|1B3k  #EBE VeV aZ7 B4 A ER VoM =KSC-D 6: 4
1606 | HB3H E X 6i 1 |8&ETHK
1606 |38t [EFH E X 6: 2| 1.00.18
1606|h2 EHih E X 6:3 2—3
1606 |/ H ZHRE E X 6: 4 |7mA-n
7130500 AR OBMEKSC-A 6 1 =H R YSD KDS(z) 6 1
71305(|AE Z&HI- UBHEKSC-A 6: 2| 51.82 ME ik YSDKIDS(zx) 6i 2| 55.22
71305| 4@ BEER ULME=KSC-A 6 3 INAR FM O|YSDKIDS(R) 5:i 3
71305|M2E  [BA UbHEKSC-A 6 4 B BX YSDKIDS(zR) 6: 4
1701|308  ZAR JACRHE 5i 1 AE K ORXREGA 61
1701|357 B8 JACRME 6: 2| 5793 BRI ER £8 B OXREGA 6: 2| 58.18
1701(HE & JACRHE 6i3 HE KE ORXREGA 5: 3
1701 |#AK K JACRHE 6i4 B F|AL JREGA 6i4
11200 M Bhx+v s 61 kHF FA HRJ-6C 6: 1
1120(IUE ®EX E2hxxwy S 61 2| 5887 XEH BTN HRJ-6C 6i 2| 58.95
1120718 &N Ehx+y S 63 [ HRJ-6C 6:3
1120|%&E K& Xy S 614 mH BE HRJ-6C 6i 4
291910|fEH =8 =%E6C (&) 61
201910[35 7k Eo3 =E6C (X&) 6:2]1.0489
291910|/\f& 3mE =£6C () 6i3
291910\ fhFR  Jb3k =%£6C (¥) 6i4
T T
2l K £ FES el G 2 FEZ Fa- s |
71305|[F R U5ME=KSC-A 6 1 RH H4&E BIZHJAC—A 6 1
71305|AE =H- UbhEKSC-A 6 2 A B3t HZIzbJAC—A 6 2
71305|dhdl AR UsME=KSC-A 6 3 51.82 e KiE #lzbJAC—A 6 3| 5200
71305|EHZE [BK UBNEKSC-A 6 4 ey BE-"E: ZIzbJAC—A 6 4
71217(h% BAX KXARKAC—6A 6 1 EEE £ Uon=KSC-B 6 1
71217|hE B8 H¥AAC—6A 6 2 B BN UBAEKSC-B 6 2
~ 71217\ EH X KAAC—6A 5 3 52.94 %m 1% V5N =KSC-B 6 3 53.06
z N217FH RARKAC—6A 6 4 =k 3 UBAEKSC-B 6 4
k 716056|A2—1) | 72x0—F2xv A 6 1 e B WHS1=7A 6 1
8 71605|=% — FRY—rRy A 6 2 FE Kb WHES1=FA 6 2
71605|H £ 1&E FAU—bRy A 6 3 54.54 BIE &R WHEY21=F7A 6 3 54.95
71605|{RE  K¥8 FAU—bZyFA B 4 Hit F2 WHY2=F7A 6 4
71121[R2E E#t HRJ-6A 6 1 =H J%%E YSDKIDS(ZR) 6 1
71121|HE BX HRJ-6A 6 2 WS JEiX YSDKIDS(®R) 6 2
n2iEA AR HRJ-6A 6 3 55.08 /NAR FF |YSD KIDS(ER) 5 3 55.22
JARVAREINS: HRJ-6A 6 4 A1 PN YSD KIDS(Z) 6 4




Z5ERESULT20150913

4 F4F 4x100mR
?Eﬁﬁ — =
No._ F1-]| (BLL) \UE No. = %-| (et
| #8 JEfT A-b E4 = 15| ok B4 A-b E£ HE 8- ek
71602| AKX £ RRE—4A 4:1 291910| B =t ==4A (&) 4.1
1 |71602|%H =7 RAE—4A 4210394 2 |291910|kKFE HExk ==4A (=) 4i2]|1.0494
71602|f@8A WA RBKE—4A 4:3 291910(#BH =F4A () 4:3
71602|E Y E RKE—4AA  4i 4 291910|#3)1] BT =E4A (F) 4i4
1 711702|=@ ZE=E RMTyTL—4 471 71305(1" £ #&&F UomEKSC-4A 41 1
3 [71702|E I Ze M7y FL—4 4: 2| 1.0550 4 |71305|=1L EE vbmEKSC-4A 4i 2| 1.06.65
71702 REE BEE SEM7YTI—4 4% 3 71305|= 1L EE OnKSC-4A 413
T1702{ LA HhDA [RM7ZyTL—4 4% 4 71306|#%M & VBhEKSC-4A 4 4
#8
71305[/N\Ff EFE  |[0bnEKSC-4B 4 1 71208[%2°1 &7 100152 &5 0-A 4 1
B (71305|% 4@ #ETE ushrKsc-4B 41 21 1.07.89 6 [71228|88 #r& 10015 v&35>-A 4§ 2| 1.09.33
71305| By AMEE |vsmrKSC-4B 4 3 71228|)\H &= 10015 v&5v-A 41 3
71305|# 1L EiE UBHEKSC-4B 4% 4 712281 B 5 10015 v &5 v-A 4 4
1M20|HE =& EBrhxxy T 411 71228| 2R BE 10015 &5>-B 41 1
7 [1120|FR =& B2hxxy S 4:i2(111.44 8 [71228|1kBe =#F |10015v&5>-B 41 2] 1.13.95
1120|EM =& Ehxxy s 4:3 71228|F6E & 10015v&5v-B 4§ 3
1120(#AH % ErhxExy S 4i4 71228468 < B |100152&5v-B 4i 4
4 FBF 4x100mR
T
| 7- |LE [ -
| 8 JELT KE £ PE4 24 [t _KE £ R4 24
TH2T| R #EX HRJ-4A 4: 1 291910 .27 %AR |==4A (&) 4 1
1 |71121{lLKx & HRJ-4A 4i 2110253 2 [291910]F X& =F4A () 4i2]1.0590
721 (KR ¥E HRJ-4A 4:3 201910\ K7 #its  |[==4A (=) 413
TH21|4EE BX HRJ-4A 41 4 291910(3ER A —=4A () 4i4
71305|5m ¥& Ubm=KSC-4A 41 1 71121~ =34 HRJ-4B 471
3 [71305(#AK E1B UBhEKSC-4A 4 2 (10597 4 |71121|48 BRK HRJ-4B 4i211.06.30
71305/ 1] e VBENEKSC-4A 41 3 TH21|/NE B HRJ-4B 4:3
71305| &)1 B VEmEKSC-4A 4} 4 7112158 ®E HRJ-4B 44
1
BEIGEES JXE4A 4: 1 71305|EE =X UbnEKSC-4B 4 1
# | b |71301|H L TF aIXE4A 4: 21 1.08.60 6 |71305|/h\g8 Z=ZE vsmKSC-4B 4: 2| 1.09.66
71301 |[{E4 AR BEAN [TXE4L4A 4:3 71305|7kZE  BEA UbnEKSC-4B 41 3
71301 |#0HA HRE aAXE4A 4i 4 71305|JII/EHE A |vomkKSc-4B 4 4
291910| FAFE  JRAK =F4B (&) 41
7 |201910|db#k AR =%F4B (%) 4:2|11228
291910| 3 £ #IK ==£4B (&) 4:3
201910| = &% 23} |=ZE4B (&) 4.4

20



Z5ERESULT20150913

F—To%F 4xXx100mR
RS _ _
No. ([E53) \UE 2| 4-| (B4
IEG) Ak K& FE S0k B4 FE FE15-|
1217k F ¥E HAAC—OP EH =¥ BIcbJAC—D 3: 1
1 (71217|325k  #&Ty ZAKAC—O0OP 1.03.09 BA & izbJAC—D 4: 2| 1.06.10
1217 =BE 2 HAAC—OP k2K Ty #izhbJAC—D 3i 3
217\ XN B XZAKAC—-O0OP HHE BIZbJAC—D 4 4
261901[{EEIl HZE [7#v2=7Cx) 3} 1 Ak X#SC-B 41
3 [261001|#AF  TEH U a=7CE) 41 2| 1.06.48 4 AR K#SC-B 6i 210736
26190158H BRTES |=#>2=7C(HE) 6: 3 #]R K#SC-B 6:3
261901 UAT & mHC1=F7CE) 6 4 B K#SC-B 6:4
71104| K BEZE EEX2 5 JC 4: 1 =H JOXRE3B 3i1
5 |71104|FE =& @I’)%jC 412111125 6 =35 OXE3B 412111416
71104|EH BE keE 70 4: 3 SePAN JXE3B 3:3
71104 |f@A %7‘” fEE 7C 3i 4 =l OXE3B 3i4
71602[ 414t =3 RRE—A 31T HE HEAC (B) 6i1
7 |71602|E54F 5 RRKE—A 5121 11446 8 =ik HEAC (B) b5:i2]|1.1589
71602(F Il #bIE RKE—A 5:3 BTE EEAC (B) 2:i3
711602(f2&  £F] RBRE—A 5i 4 N ERAC (B) 6:i4
71203|fA7/ Tm@mA HBRAC (A) 6i1 AT EXRCa=7 A bil
1 |71203|H0)Il E¥& HREAC (A) 6i 2] 1.06.85 2 BE EXxvaz7 A 3i2]1.07.01
71203|5kH HIE EEAC (A) 4i3 BFf EAXC2=7 A 4i3
71203|{EBE B3R HEAC (A) 4i4 I EBRSa=7 A 4i4
71606(/Ngg W S5H [7ru—txyrB 61 1 B VeV az7 2
3 |[71605|#tFE &R FRY—rRv B 6i 2| 1.07.59 4 =AM vekvrrbvazy 41 2 | 1.08.04
71605|8EH AN FAU—rRy B Hi 3 E A VeV hyazy 31 3
71605|{FiE Ty FRY—r*xy B 3i 4 =®)I VeV N az7 b4
201910 KT 3 =FY (%) 31 Bl HRJ-3A 3i1
5 |291910|FH N& =Y () 312111038 6 S&8h HRJ-3A 3:211.1230
291910{42 K  F1TY ==Y (%¥) 3i3 KB HRJ-3A 3i3
291910 KHL T8 ==Y (¥) 3i 4 KR HRJ-3A 3i 4
REIIP S 2 EFKSRC 3i 1 AH RKXKZE-B 4:0
7 |71311|[ER T2 T&E’KSRC 4:211.16.02 #HR RBRE-B 4:0 DNS
71311 | &A  WIF ZEKSRC 2:3 I\ RKE-B 4: 0
T3\ &% & ZZEFKSRC 114 FI RBRE-B 6:0
262702| )1l 422K |HAC-A(R) 6.1 FR JXE3A 511
1 [262702| BH) A& HAC-A(ZR) 6i 2| 1.06.15 2 X3t OXE3A 4: 2110789
262702 £ EE HAC-A(R) 6: 3 TA ORXRE3A 4: 3
262702|18 2 1A HAC-A(R) 5: 4 ER aOXE3A 5: 4
161831l #k=E FEREm 411 20 RRKE-C 3i1
3 (1618|H:2 BN JtER& 4% 21 1.09.57 4 NH RKE-C 3i211.1207
161884 UMD |NBHEE 53 5 RKE-C 3:3
1618|IRE &HF bz h=) 5:4 AR RKE-C 3i4
71200[@EF  mELE EXva21=7 B 3. 1 S R#U1=-7DGE) 5 1
5 |71200|BF (53 BAxvaz=7 B 3:i 2| 1.13.51 6 =a) i1 R#HCa2=7D(®) 6i 2| 1.16.27
71200(& T~ EZx EAva=7 B 3i3 B R=#HU2-7DE) 4 3
71200| K88 BZE EX a2=7 B 4i4 EH m#HU1=7DE) 3i 4
201910[/Ng . FE (=27 () 31
7 |291910| 5 B =7 (¥) 3t 211744
201910 /N BETE =%£Z (%) 3:3
201910| 4 sE=E =%8Z (%) 3i4

21



Z5ERESULT20150913

T—FUBF 4xXx100mR
RS
| 7- \UE [ P
| #8 lIBLr K £ B4 4 [Itiva KE % B4 B4
11218 fEk HRJ-3A 3711 262702|F/FAK Y < HAC-B(=) 31
1 (71121|E8E BE HRJ-3A 3:211.06.91 2 [262702| /AR # 5 HAC-B(®) 3:211.10.06
71121|HZE #R5E HRJ-3A 3i3 262702|FxJIl  ZRFR HAC-B(®R) 3:3
71121(88K Tk HRJ-3A 2i 4 262702|FEA IR A HAC-B(®) 3:4
71311 |FhE B 2 BFKSRC-C 3i 1 201910050 E4b 2Y (&= 41
3 |73 EE ZEHKSRC-C  3i 2| 1.10.74 4 291910/ 2 F @E =Y (¥) 4:21119.04
FARIRADIIL:: =5 ZEKSRC-C  2: 3 291910| L8 #F ==Y (& 4:3
31T B4 ZEKSRC-C 114 291910/ /P EES =EY (& 3:i4
1
71203|=@ Bk ERBRAC (D) 1: 1 712178k &3 HAAC—OP 5:i0
#8 71203| LB f& HEAC (D) 2:2 DNS T217|#k FUAR HAAC—OP 3:0]| DNS
71203|1UH BRXER |[EBRAC (D) 2:3 71217|F@H BX HAAC—OP 5i0
71203[5kH  #/\ HEAC (D) 2i4 712178 B HAAC—OP 5i0
71200|tEfA WE EXC2Z7 411 71311 Bl fExE REKSRC-B 5§ 1
1 |71200|#AJR =4t EAXCa=7 62| 10695 2 |71311| KRR KH ZEKSRC-B 5i 2| 1.07.16
71200| 74T EX EXYa1z=7 3i3 713117 it 2 EFKSRC-B 43
71200(#HF =E EXYaz=7 bi4 7131118 #%&E RXEKSRC-B  4i 4
71523(fE  HER& K#SC-A 3i 1 711213 E HRJ-4C 471
3 [716523|/BM =4t KSC-A 5:i 2110757 4 |71121| &% k4 HRJ-4C 4% 211.0997
71623| B FEEE K#SC-A 3i3 71121 KIE 1A HRJ-4C 4: 3
71523|IUA =k K#HSC-A 5i 4 T1121|(xm RAE HRJ-4C 3i4
2
71301 IUA St aXE3C 31 71203 A= HEAC (C) 2i1
#8165 (71301} K& aOXE3C 3i 2111333 6 [71203|#t8 & |H/RAC (C) 22| 12073
71301 |%H+ B8 JXE3C 3:3 71203|EE = HEAC (C) 2i3
71301|#H £ HF JXE3C 3i 4 711203158 E HE/REAC (C) 2:i4
11205k E=N E2hzx¥xy S 3 1 |[5EZHK
7 [1120|F8 &R BrhxEwy S 2i 2| 11540
1120( k@A & Bhxfy S 23| 3—4
1120|%2H ZE& Ehxxy T 64 |bmA-n-
71801 ZH =& BlebJAC—C 411 2702[HF & SR T a7 B 1
1 (71801 (k)R &5 RIzhbJAC—C 4i 2] 1.00.19 2 | 2702|8F =X YyEvyr-bazy 31 2 | 1.05.58
71801(db)1l  #EiE BizbJAC—C 4 3 2702| KWL H=#&H PAAZ i S e K
71801|&F # BizhJAC—C 6 4 2702|HAM A3} Pevrr+vazy 664
71301|#k 22 OXE3B 2% 1 291910(#8J1l KA =7 (¥) 3i1
3 [71301|F7E =3} JOXE3B 3i2(1.0756 4 |291910|FEE HE |=ZEZ () 3: 2111090
71301 |k AK  fBFS JXE3B 53 201910| L B2 =7 (&) 3:3
71301| =% E]K JXE3B 3i 4 291910(fkH K&E =7 (&) 3:i4
3
71203(7TH  AE ERAC (B) 3:1 71104| X8 BBIA |BEESZTIC  3: 1
# | b [71203|3xc ZE HEAC (B) 5i2[11186 6 |71104|FAK ik X5 < JC 4:211.16.58
71203k BEA EERAC (B) 4i3 7104|850 A BEE~SS5JC  3i3
71203|5kH &% EEAC (B) 6 4 71104\ KP8  RAF BEEZSTC 1:i4
REHESE = ZHKSRC-A 5! 1 |2EZ&H
7 |71311|E  KiE ZZEKSRC-A 5i 21 1.06.33
71311 B [ ZEKSRC-A  6: 3| 3—4
11311|%& & ZZEFKSRC-A 6 4 |5mA-n-

22




Z5ERESULT20150913

—_— SELF Bk

R = 7, TEE = == EF %= 2, TEE = =5

11306 E  FT&F O =KSC b 1m30
3 S&EEF E =Bk

R _ _ _ _ _

8 B BE K& s = =5 Bl 22 K2 TEZ = =i

— 6ELF EBHk

ol [ TEL = == TEEL == Tz TREE = ==
11 104[EE fer [BExs5J 6 Tmib 2[1119|% e EREAR 3 Tm10

3 6EEF E =Bk

R _ _ _ _

A 5L Be 2 s = =5 B == K2 s = T
1112175l FR KAAC 6 1m30 201121|FH BE HRJ 6 1m2b
3[91910[ KB @ == () 6 1m15 41 11213 FEK R HRJ [ 1m10

5 &L+ Y JhR—ILEIT

R _ _ _ _

B[ &2 Kz ez = =5 EL] 221 K= Es = =i
T 1104 =nl  |EEto 5 J 5 30m81 1602|555 RAZSRC 5 DNS

1602|108 [RAESRC 5[ __DNS
i bFEBF VI RR— LT

RS ES _ _ . .

Bl =2 Kz TEs = ks [ELl == K2 TEZ = s
101910 BA e =% (&) 5 42m47 /04 Ax BE _ [EHEJC 5] DNS

3 6 FELF Y JMR=ILIFIT

TS _ .

B =2 Kz s = =i EL] Be Kz s = =5
1]91910[ X8 EF =% () 6] 1 28m86 20 1TT19[MAK  HRIKE [RFARE 6] 2 27/mid
3[1119|FE wE  |[HHAAR 6] 3 10mo08

3 6 FEBF VI RR— LT

RS _ _ _

Bl =2 K2 s = ko [EL] &2 Kz TEZ = =5
1118011l KiE 2 12HJAC 6] 1 55m90 2| 2702|1B3E  FES SrEh a7 6| 2 42m22
3|191910[BEH =5 == () 6[ 3 40m40 41 1704[@)Il Bs BRJC 6| 4 36m2b
5[ 2702[)I8 ERER |[vwisr+va=7 6] 5 32mid 6[91910|/ i mE =% (&) 6] 6 31m23
71 1523|#EE —E K#SC 6| 7 10m91

23



Z5ERESULT20150913

S&ELT  EiEk
Thx] __ __

JBfy| EE K4 PES F ko JERL] = K4 EZ = =z
1[91910|F Il &FE =% (%) 5 3m/3 21 1104[EX W EEXEFI 5 3m45
3[91910|%K # == (&) 5 3m29 41919105l ZE7° == (&) 5 3m12

b&FEBF 7 2 Bk
ROk | _ _ _ _

IBhr| EE K4 FE4 e S0k IBfr| = K4 IE4 = Eaﬁ
T191910[#AFf f=8g =% (¥) 5 3m44 219191038 & X == (&) 5 3m00
3[1305[A% & UoAKSC b 2m90 4] 1305|HE FH= UoAEKSC b 2m60

1819|MAE —¥8 HIEESS T b NM
6ELTF  EME
SOEKE _ _

Efr ] K2 K4 PE% E S0 8% IEhr| &= K FE% 2 o
T 1305|542 _ AN VoA KSC 6 Am16 2] 1305[/MI &< UM =KSC 6 4m11
3 1217|8A P RAAC 6 4m05 41 1119|138 BHAAE 6 3m90
56270135k EAB YSDKDS(ZR) 6 3m80 6] 1217|%8 W3 *AAC 6 3m74
7| 1305|HE %= UsNEKSC 6 3m42 8] 1801 [#H ¥ A IZHJAC 6 3m42
9191910 AKX tF&F =% (¥) 6 3m38 10[61901[bPe  /Ni{ m#C1=7 G 6 3m03

1305[@AHF = UsNEKSC 6 DNS
6EBF  EME
LIRS _ _

IBfr| FEH E4 Ea SO IEfr] EKE K4 E4 £ ok
11160558 —&R FAJ—FXY 6 Am6 7/ 2| 1305|5 4l  BEEH UM =KSC 6 4m59
3[1121|HE E HRJ 6 4m21 4] 1305| A% FEST Usn=KSC 6 4m19
5[ 1701|A & JACRH 6 3m97 6]91910[ R BEA =% (¥) 6 3m88
71 1121]5E5h XK HRJ 6 3m86 8lo1910[3FkK  EE3f == ) 6 3m60
9|91910|shzx db3t =% (¥) 6 3mb4 10[ 1605|B8 k=& FRY—bRYE 6 3m31

24



Z5ERESULT20150913

&4 100m EFEoxHkEL—X
_ ZF _ BF
RN E £ ﬁ)ﬂ%% = ek | A Bf] EE E % B4 2 ek |
T _T[91910[#H &% £ (& b .35 T T 11210RF KA HRJ b 15.29
2| 1702[RH B %N‘I?/?")b 5 15.59 201201148 5% WHYa2=Z7 b 15.29
3[91910[ =1 k& £ (X) 5 16.03 3| 1217[FA RmE KAAC 5 1548
4162701 Y5H ZET YSD KDSGm) 5 16.14 4162701/MABE  =F0 [YSDKIDSGR) 5 15.78
5[61201|7E% e =ZNER) 5 16.20 b[o1o10| FH EE == (= 5 16.37
6l61901|Kpm =& =#HC1=7 G0 b 17.01 6[91910[FEA 1HEE == (& 5 17.16
7191910/NE B =% (¥) 5 17.26 7191910(hEE BE =% (%) 5 17.29
Bl61901|HkH U  [m#>2=7 G 5 1777 8l91910[hiE & EENES 5 17.91
21 111602[Fwm=E E&H RRESRC 5 15.69 2] 1[1201]5H #p%e WH 1=-7 b 1457
211201 |mMM@A HE WH a2=—7 b 16.73 2] 1523[IuAx  &=ht K#HSC 5 14.98
3[1104|FEA MmAEZxE [EEY T J 5 15.74 3] 1801 T T 1= JAC 5 15.02
41 1801[86@A JtiA 7212 JAC 5 15.83 41 2703[#1L F ILT7A2—X b 15.02
5[ 1702[ieAx =k RMF7v T b 15.95 bl 1104|H% 1&—BB [FEFH ST 5 15.03
6] 1702|834 H&E I 16.22 6] 1605[Fh 1 = FAJ—F*v k b 15.03
7[1305[&FHJII —= UM =KSC b 16.26 7] 1305[&8 &K Uo5A=KSC b 15.13
8] 1305[IE #F UoMEKSC b 16.35 8] 1305|¥AF {RAHE [USAEKSC b 15.33
3 1[1602[5X %= R AESRC 5 14.77 3 _1[1217]hH & *RAAC 5 14.14
21 1801 5R0T8 23 [RIZHJIAC 5 14.85 2] 1801[REy BXK A 2HJAC 5 14.45
3[1618|F & F0fE FEHEE 5 14.98 3| 1819[KjE &4 HIEESS T b 14.48
4] 2607| A& 7 BETESC 5 15.26 4] 1801 pEp sk 2 HJAC 5 14.63
51618 ft2d SXBREE 5 15.35 5 1605 FH & FAYJ—brXvy bk b 14.74
6[61901|hFE BHAE |m#va-7 (® b 15.41 6] 1201[fgH BX WHS1=-7 b 14.89
71 1801|E@ =& 2 2HJAC 5 15.50 7 1301[HE K& JXEAC 5 15.02
8l 1217k &7y FAAC b 15.60 8] 1801|FiH #EX 72— HJAC b 15.18
6 F£4E 100m EFIekEL—X
_ ZF _ _ _ B¥ _

HIE] EXE] K £ EZ 3 sodk | 8 JEG] e KE % FEZ 2 ik |
1 1161201|FRE FEB NEEGR) 6 4.71 1 1162601|&F &KX HOPESPORTSCLUB(R) 6 14.35
2 1849|=B ZE JXLZ7—F 6 14.93 21 1701 [#AK  #3X JACRHE 6 14.35
3[1702[&8)I = M7y FIL 6 14.96 3| 1200[Es =% EAXC1=-7 6 14.57
41 1119[RIFFr mmZ= HHAR 6 15.05 41 1200[#23F 4RER EXCa=7 6 14.59
bl61901| =M HZE 7 2=7 GO 6 15.21 5[o1910[i6A =L _% (&) 6 14.84
6191910|F+  MATHTE = () 6 15.37 6|91910[4TE BB £ (%) 6 15.02
7l61201|FEA  ZEHK a/J\l&(a) 6 15.51 71627012 H £ YSD KIDSGGE) 6 15.04
8161901 & #&EH REU1=7 ) b 15.60 8]91910 %EE ﬁ% B =% (&) 6 15.16
2] 1[61201[3ER] Z=rt =NEGR) 6 14.65 2] 1162702][= SiRLe) HAC(x) 6 13.91
2161901 ZH £=&= =#HT21=7 (R) 6 14.77 2| 16056 #:fu FevF|[FR)—bXY b 6 13.94
3[1705|kRR [E3 REY 5 Zky =X B 14.90 3| 1305|Ek R UOoM=KSC 6 13.98
411201 |4H % WHYa2=7 6 14.97 41 1305[FH 1% O =KSC 6 14.05
5[ 1801+ =0 1= JAC 6 14.99 5[62701[3JIl BEEX YSDKIDSGR) 6 14.14
6]/ 1605[28 HXE FAY—hXy b 6 15.07 6| 1801|FH 4 2124 JAC 6 14.15
7 1305[=11 Bx U5~ =KSC 6 15.24 71 1514[chE EBR PR EFRC 6 14.16
1217|590 REH [ZRAKAC 6 DNS 8] 1801 [h4f EEHR 72 1ZHJAC 6 14.47
3] 1] 1801 ,&,I;'Ey %—;m 22 JAC 6 13.52 3 1] 1801|=28 mE3t 2 HJAC 6 13.24
211819 =T NILELESI ST 6 13.60 2[62701|MWE  JEK YSD KIDS(ZR) 6 13.53
3[12003E# HFEZEX [BEACa21—-7 6 13.93 [ 1121]EME EX HRJ 6 13.63
4161901|FFH BEF REBU1=7 &) b 14.21 411217(4% BX FAAC 6 13.81
5[ 1702|83E & REMTFYTIL 6 14.40 [ 1120 lLH  HEX 2z T 6 13.81
6] 1201 [#E4T  FI+F WHY2=F7 6 14.43 6| 1605|{FE X¥E FRY—bERy b 6 14.10

711801 | KAR FX [HIZHJIAC 6 1450 1305[FRZE BX U5A=KSC 6 DNS

8l 1217|ZEH #&F [XRAAC 6 1471 1217[8 =8 [RAAC 6] DNS

25



